Time	F/P/S		Event		Place	Points	Improv
Hissah Al Faisa	l (9) F						
48.95S		# 103A	Female 8-9 50 Fly	CWSL-LD	6		-2.37
3:39.92S	F	# 201A	Female 8-9 200 IM	CWSL-LD	3		-27.26
40.53S	F	# 203A	Female 8-9 50 Free	CWSL-LD	5		-2.97
1:51.48S	F	# 205A	Female 8-9 100 Breast	CWSL-LD	3		-9.51
3:20.42S	F	# 302A	Female 8-9 200 Free	CWSL-LD	2		-11.52
50.26S	F	# 304A	Female 8-9 50 Breast	CWSL-LD	4		-2.81
47.40S	F	# 404A	Female 8-9 50 Back	CWSL-LD	5		-5.86
1:43.43\$	F	# 406A	Female 8-9 100 IM	CWSL-LD	6		-1.51
1:34.43S	F	# 408A	Female 8-9 100 Free	CWSL-LD	7		-8.95
Maya Al Faisal	(9) F						
48.19S	F	# 103A	Female 8-9 50 Fly	CWSL-LD	4		-1.54
3:38.76\$	F	# 201A	Female 8-9 200 IM	CWSL-LD	2		-27.56
40.16S	F	# 203A	Female 8-9 50 Free	CWSL-LD	4		-4.41
3:23.84S	F	# 302A	Female 8-9 200 Free	CWSL-LD	3		-13.32
55.24S	F	# 304A	Female 8-9 50 Breast	CWSL-LD	8		-1.37
2:01.81S	F	# 308A	Female 8-9 100 Fly	CWSL-LD	1		
46.96S	F	# 404A	Female 8-9 50 Back	CWSL-LD	4		-7.72
1:42.80S	F	# 406A	Female 8-9 100 IM	CWSL-LD	4		-11.01
1:36.96\$	F	# 408A	Female 8-9 100 Free	CWSL-LD	9		-16.16
Smar Algamal	(10) F						
40.35\$	F	# 203B	Female 10-10 50 Free	CWSL-LD	14		
46.43\$	F	# 404B	Female 10-10 50 Back	CWSL-LD	11		
1:45.25\$	F	# 406B	Female 10-10 100 IM	CWSL-LD	14		
Philippa Anglir	ı (13) F						
39.47S		# 103E	Female 13-13 50 Fly	CWSL-LD	5		-1.02
1:32.72S	F	# 105E	Female 13-13 100 Back	CWSL-LD	7		
3:12.61S	F	# 201E	Female 13-13 200 IM	CWSL-LD	4		
35.23S	F	# 203E	Female 13-13 50 Free	CWSL-LD	8		
1:44.35S	F	# 205E	Female 13-13 100 Breast	CWSL-LD	8		4.87
NS	F	# 302E	Female 13-13 200 Free	CWSL-LD			
NS	F	# 304E	Female 13-13 50 Breast	CWSL-LD			
NS	F	# 404E	Female 13-13 50 Back	CWSL-LD			
NS		# 408E	Female 13-13 100 Free	CWSL-LD			
Eleonora Antor	naci (10) F						
1:47.80S DO		# 105B	Female 10-10 100 Back	CWSL-LD			
4:12.26S	-	# 107B	Female 10-10 200 Breast	CWSL-LD	5		
Karen Arbid (1	l0) F						
48.28S	-	# 203B	Female 10-10 50 Free	CWSL-LD	20		
54.59S		# 304B	Female 10-10 50 Breast	CWSL-LD	10		
59.11S		# 404B	Female 10-10 50 Back	CWSL-LD	18		

Time	F/P/	S	Event		Place	Points	Improv
Elena Argesanı	u (12) F						
6:08.09S	F	# 101C	Female 12-12 400 IM	CWSL-LD	1		
37.44S	F	# 103D	Female 12-12 50 Fly	CWSL-LD	5		1.00
1:20.41S	F	# 105D	Female 12-12 100 Back	CWSL-LD	4		0.21
2:50.96S D	Q F	# 201D	Female 12-12 200 IM	CWSL-LD			
32.41S	F	# 203D	Female 12-12 50 Free	CWSL-LD	5		-0.23
41.27\$	F	# 304D	Female 12-12 50 Breast	CWSL-LD	2		-1.35
2:47.31\$	F	# 306D	Female 12-12 200 Back	CWSL-LD	2		0.01
37.72S	F	# 404D	Female 12-12 50 Back	CWSL-LD	3		0.86
1:21.98\$	F	# 406D	Female 12-12 100 IM	CWSL-LD	4		-6.17
1:11.67\$	F	# 408D	Female 12-12 100 Free	CWSL-LD	4		-1.72
Debora Asmer	om (9) F						
1:13.22S D		# 103A	Female 8-9 50 Fly	CWSL-LD			
53.46S	F		Female 8-9 50 Free	CWSL-LD	26		-5.66
1:13.00S	F		Female 8-9 50 Breast	CWSL-LD	24		-4.86
1:00.45\$	F		Female 8-9 50 Back	CWSL-LD	25		
2:24.55S D			Female 8-9 100 IM	CWSL-LD			
2:10.10S	F		Female 8-9 100 Free	CWSL-LD	22		
		10011	70mme 0 7 100 1100	GW02 25			
Ethan Astrug ( 1:00.15S D		# 104A	Male 8-9 50 Breast	CWSL-LD			
2:01.79S D	-						
			Male 8-9 100 Back	CWSL-LD			
51.718	F	# 403A	Male 8-9 50 Free	CWSL-LD	20		
2:10.11S	F	# 405A	Male 8-9 100 Breast	CWSL-LD	6		
Ela Avcioglu (1	-						
1:28.09S	F	# 105B	Female 10-10 100 Back	CWSL-LD	2		-6.07
3:30.03S	F	# 107B	Female 10-10 200 Breast	CWSL-LD	1		-10.15
3:17.32S D	Q F	# 201B	Female 10-10 200 IM	CWSL-LD			
39.80S	F	# 203B	Female 10-10 50 Free	CWSL-LD	13		0.35
1:38.34S	F	# 205B	Female 10-10 100 Breast	CWSL-LD	2		-6.77
Meyra Bakla (	9) F						
NS	F	# 103A	Female 8-9 50 Fly	CWSL-LD			
39.23S	F	# 203A	Female 8-9 50 Free	CWSL-LD	2		
NS	F	# 304A	Female 8-9 50 Breast	CWSL-LD			
48.05S	F	# 404A	Female 8-9 50 Back	CWSL-LD	6		
1:48.19S	F	# 406A	Female 8-9 100 IM	CWSL-LD	8		
1:33.02S	F	# 408A	Female 8-9 100 Free	CWSL-LD	5		
Alice Baleston	(13) F						
40.60S	F	# 103E	Female 13-13 50 Fly	CWSL-LD	6		-1.89
32.86S		# 203E	Female 13-13 50 Free	CWSL-LD	2		-2.07
Helen Basi (11							
2:55.10S	-	# 302C	Female 11-11 200 Free	CWSL-LD	3		-26.05
46.53S	F		Female 11-11 50 Breast	CWSL-LD	2		-3.63
3:18.76S							-3.03
3:18.765 1:41.94S	F F		Female 11-11 200 Back Female 11-11 100 Fly	CWSL-LD CWSL-LD	3		
	_		•				
6:16.49S	F		Female 11-11 400 Free	CWSL-LD	2		 2 E2
43.66S	F		Female 11-11 50 Back	CWSL-LD	3		-2.53
1:34.128	F	# 406C	Female 11-11 100 IM	CWSL-LD	1		-0.76
1:26.15S	F	# 408C	Female 11-11 100 Free	CWSL-LD	5		

Time	F/P/S		Event		Place	Points	Improv
Ravi Bearelly (9	) M						
3:14.43\$	F	# 102A	Male 8-9 200 Free	CWSL-LD	3		-14.49
3:20.76S	F	# 106A	Male 8-9 200 Back	CWSL-LD	1		-33.58
2:00.41S	F	# 108A	Male 8-9 100 Fly	CWSL-LD	1		
45.97S	F	# 204A	Male 8-9 50 Back	CWSL-LD	4		-6.99
1:31.00S	F	# 208A	Male 8-9 100 Free	CWSL-LD	2		-30.89
1:34.86\$	F	# 305A	Male 8-9 100 Back	CWSL-LD	2		
3:47.78S	F	# 307A	Male 8-9 200 Breast	CWSL-LD	2		
3:39.32S	F	# 401A	Male 8-9 200 IM	CWSL-LD	3		
1:49.66S	F	# 405A	Male 8-9 100 Breast	CWSL-LD	1		
Simran Belanger	r (8) F						
1:12.27S DQ		# 103A	Female 8-9 50 Fly	CWSL-LD			
52.38S	F	# 203A	Female 8-9 50 Free	CWSL-LD	25		
1:11.63\$	F	# 304A	Female 8-9 50 Breast	CWSL-LD	23		
1:00.23S	F	# 404A	Female 8-9 50 Back	CWSL-LD	24		
Freya Bennett (2	13) F						
1:26.06\$	-	# 105E	Female 13-13 100 Back	CWSL-LD	4		-10.69
33.44\$	F	# 203E	Female 13-13 50 Free	CWSL-LD	4		-5.10
3:03.76S		# 306E	Female 13-13 200 Back	CWSL-LD	4		-25.78
40.13S	F	# 404E	Female 13-13 50 Back	CWSL-LD	3		-5.49
1:14.16S	F	# 408E	Female 13-13 100 Free	CWSL-LD	3		-11.08
Julius Bennett (	16) M						
2:16.26S	-	# 102F	Male 14 & Over 200 Free	CWSL-LD	4		-25.36
1:14.43S	F	# 206F	Male 14 & Over 100 IM	CWSL-LD	5		-10.35
1:00.78S	F	# 208F	Male 14 & Over 100 Free	CWSL-LD	6		-7.89
31.50S	F	# 303F	Male 14 & Over 50 Fly	CWSL-LD	6		-3.90
2:37.41S	F	# 401F	Male 14 & Over 200 IM	CWSL-LD	1		-28.07
28.47S	F	# 403F	Male 14 & Over 50 Free	CWSL-LD	5		-2.49
Herbert Binghar	n (16) M						
2:07.54S		# 102F	Male 14 & Over 200 Free	CWSL-LD	3		4.31
2:26.70S		# 106F	Male 14 & Over 200 Back	CWSL-LD	2		8.65
1:06.56S		# 108F	Male 14 & Over 100 Fly	CWSL-LD	3		2.69
4:55.09S		# 202E	Male 14 & Over 400 Free	CWSL-LD	3		-17.26
31.03S		# 204F	Male 14 & Over 50 Back	CWSL-LD	3		1.03
1:08.81S		# 206F	Male 14 & Over 100 IM	CWSL-LD	3		-0.06
58.47S		# 208F	Male 14 & Over 100 Free	CWSL-LD	3		1.56
28.88S		# 303F	Male 14 & Over 50 Fly	CWSL-LD	3		0.38
1:07.28S		# 305F	Male 14 & Over 100 Back	CWSL-LD	3		2.64
2:56.37S		# 307F	Male 14 & Over 200 Breast	CWSL-LD	2		-42.88
26.21S		# 403F	Male 14 & Over 50 Free	CWSL-LD	2		0.27
2:35.50S DQ		# 407F	Male 14 & Over 200 Fly	CWSL-LD			0.27
2.33.303 DQ	1'	ir <b>TU/I</b> '	Maic 17 & Over 200 Ply	CAA2T-PD		2 <b></b>	

Time	F/P/S	Event		Place	Points	Improv
Phillip Boico-Ha	ands (13) M					
2:26.878	F #1	02E Male 13-13 200 Free	CWSL-LD	6		-8.61
41.35S	F #1	04E Male 13-13 50 Breast	CWSL-LD	7		-4.46
2:56.38\$	F #1	06E Male 13-13 200 Back	CWSL-LD	8		3.13
1:21.998	F #1	08E Male 13-13 100 Fly	CWSL-LD	6		-10.18
5:23.22S	F #2	02D Male 13-13 400 Free	CWSL-LD	5		-24.49
36.67S	F #2	04E Male 13-13 50 Back	CWSL-LD	9		-3.33
1:16.978	F #2	06E Male 13-13 100 IM	CWSL-LD	5		-10.34
1:05.50S	F #2	08E Male 13-13 100 Free	CWSL-LD	7		-3.52
6:12.72S	F #3	01D Male 13-13 400 IM	CWSL-LD	4		-14.32
34.91S	F #3	03E Male 13-13 50 Fly	CWSL-LD	6		-3.68
1:18.31\$	F #3	05E Male 13-13 100 Back	CWSL-LD	8		-5.97
3:16.16S	F #3	07E Male 13-13 200 Breast	CWSL-LD	3		-11.38
2:55.43\$		01E Male 13-13 200 IM	CWSL-LD	6		-8.76
30.05\$	F #4	03E Male 13-13 50 Free	CWSL-LD	4		-1.31
1:28.85\$		05E Male 13-13 100 Breast	CWSL-LD	4		-4.37
3:29.44\$	F #4		CWSL-LD	3		-7.05
Martina Bonetti						
46.33S	F #4	04A Female 8-9 50 Back	CWSL-LD	3		
1:43.08S		06A Female 8-9 100 IM	CWSL-LD	5		
1:33.03\$	F #4		CWSL-LD	6		
		UOA FEIIIAIE 0-9 100 FIEE	CW3L-LD	O		
Dahlia Bonfiglio			aviar v p			
7:16.13S	F #1		CWSL-LD	2		
45.43S	F #1	ř	CWSL-LD	6		0.74
1:32.85S	F #1		CWSL-LD	7		1.37
3:26.43S	F #2		CWSL-LD	10		-4.10
36.01S		03B Female 10-10 50 Free	CWSL-LD	5		0.12
2:45.10S	F #3	02B Female 10-10 200 Free	CWSL-LD	3		-9.25
52.54S	F #3		CWSL-LD	9		-4.88
3:12.36S		06B Female 10-10 200 Back	CWSL-LD	2		
1:53.43S	F #3	•	CWSL-LD	8		-10.17
5:48.61S	F #4		CWSL-LD	2		
43.23S	F #4	04B Female 10-10 50 Back	CWSL-LD	7		-2.99
1:36.52S	F #4	06B Female 10-10 100 IM	CWSL-LD	9		-4.03
1:20.80S	F #4	08B Female 10-10 100 Free	CWSL-LD	3		-1.42
Luc Bonfiglio (8	B) M					
1:01.14S DQ	F #2	04A Male 8-9 50 Back	CWSL-LD			
2:22.06S	F #2	06A Male 8-9 100 IM	CWSL-LD	12		-0.01
2:13.06S	F #2	08A Male 8-9 100 Free	CWSL-LD	17		
1:13.19S DQ	F #3	03A Male 8-9 50 Fly	CWSL-LD			
2:02.81S	F #3	05A Male 8-9 100 Back	CWSL-LD	9		
58.32S	F #4	03A Male 8-9 50 Free	CWSL-LD	24		1.36
Charles Brooks	(9) M					
56.198	F #1	04A Male 8-9 50 Breast	CWSL-LD	9		
52.39S	F #2		CWSL-LD	15		
2:04.34S DQ			CWSL-LD			
NS NS	F #2		CWSL-LD			
1:03.398	F #3		CWSL-LD	13		
1.03.393 NS	F #3	•	CWSL-LD			
INO	1 # 3	USA MAIC 0-9 100 Dack	CAAST-FD			

Section	Time	F/P/S	5	Event		Place	Points	Improv
Source	Olivia Bunimovi	ich (9) F						
2-09.575			# 103A	Female 8-9 50 Fly	CWSL-LD	7		2.40
CMSLLD		F	# 105A	•	CWSL-LD			
S.3.03.05	44.12S	F	# 203A	Female 8-9 50 Free	CWSL-LD	13		-1.48
S8.54S	2:09.57\$	F	# 205A	Female 8-9 100 Breast	CWSL-LD	8		
S8.54S	3:30.30S	F	# 302A	Female 8-9 200 Free	CWSL-LD	4		
S. 12.6S		F	# 304A	Female 8-9 50 Breast		15		-7.66
S1.26S	3:49.25\$	F	# 306A	Female 8-9 200 Back		2		
1:51.33S		F				13		0.47
1.42.908		F			CWSL-LD	12		
New Part		F						
33.88S	Victoria Bunime	ovich (12)	E					
1:18.34\$   F # 105D   Female 12-12 100 Back   CWSI-LD   1		` ′		Famala 12-12 50 Fly	CWSI -I D	4		-1 <i>1</i> .7
Second Color				-				
2:44.39S								
31.98S								
1:31.97S								
2:48.85S								
2.27.65S								
42.78S				•				
2.47.23S								
1:15.64S         F         # 308D         Female 12-12 100 Fly         CWSL-LD         4								
5:10.22S         F #402C         Female 12:12 400 Free         CWSL-LD         2          .1268           37.81S         F #404D         Female 12:12 50 Back         CWSL-LD         4          .054           1:18.32S         F #406D         Female 12:12 100 IM         CWSL-LD         1          .291           1:108.09S         F #406D         Female 12:12 100 Free         CWSL-LD         1          .291           Arya Burman (10) F           4:03.89S         DQ         F #302B         Female 10-10 200 Free         CWSL-LD         17              58.78S         F #304B         Female 10-10 50 Breast         CWSL-LD         13 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>								
37.81S         F         # 404D         Female 12-12 50 Back         CWSL-LD         4          -0.54           1:18.32S         F         # 406D         Female 12-12 100 IM         CWSL-LD         1          -2.91           1:08.09S         F         # 408D         Female 12-12 100 Free         CWSL-LD         2          -4.15           Arya Burman (10 F           4:03.89S         DQ         F         # 302B         Female 10-10 200 Free         CWSL-LD           -9.22           4:03.89S         DQ         F         # 304B         Female 10-10 50 Breast         CWSL-LD         17          -9.22           49.06S         F         # 406B         Female 10-10 100 IM         CWSL-LD         13          -13.47           1:53.68S         DQ         F         # 406B         Female 10-10 100 Free         CWSL-LD              53.34S         DQ         F         # 406B         Male 11-11 50 Breast         CWSL-LD              Tristan Charley         F         # 104C         Male 8-9 200 Free         CWSL-LD         5				•				
1:18.32S         F         # 406D         Female 12-12 100 IM         CWSL-LD         1          -2.91           1:08.09S         F         # 408D         Female 12-12 100 Free         CWSL-LD         2          -4.15           Arya Burman (10) F           4:03.89S         DQ         F         # 302B         Female 10-10 200 Free         CWSL-LD								
1:08.09S								
Arya Burman (10) F           4:03.89S DQ         F #302B         Female 10-10 200 Free         CWSL-LD              58.78S         F #304B         Female 10-10 50 Breast         CWSL-LD         17          -9.22           49.06S         F #404B         Female 10-10 50 Back         CWSL-LD         13          -13.47           1:53.68S DQ         F #408B         Female 10-10 100 IM         CWSL-LD              1:46.53S         F #408B         Female 10-10 100 Free         CWSL-LD         15             53.34S DQ         F #104C         Male 11-11 50 Breast         CWSL-LD              37.66S         F #403C         Male 11-11 50 Breast         CWSL-LD              Tristan Chan (9) W           32.0-52S         F #104A         Male 8-9 200 Free         CWSL-LD         5             5.153S         F #104B         Male 8-9 50 Breast         CWSL-LD         9             Lavinia Chiarparin (10***         F         #100 Break         CWSL-LD         9 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>								
4:03.89S         DQ         F         # 302B         Female 10-10 200 Free         CWSL-LD  -	1:08.095	F	# 408D	Female 12-12 100 Free	CWSL-LD	2		-4.15
58.78S         F # 304B         Female 10-10 50 Breast         CWSL-LD         17          -9.22           49.06S         F # 404B         Female 10-10 50 Back         CWSL-LD         13          -13.47           1:53.68S         DQ         F # 406B         Female 10-10 100 Free         CWSL-LD              Franciszek Chalaczkiewicz (11) W           Franciszek Chalaczkiewicz (11) W           53.34S         DQ         F # 104C         Male 11-11 50 Breast         CWSL-LD              53.34S         DQ         F # 104C         Male 11-11 50 Free         CWSL-LD              Tristan Chan (9) W           3:20.52S         F # 102A         Male 8-9 200 Free         CWSL-LD         5             51.53S         F # 104A         Male 8-9 50 Breast         CWSL-LD         3             Lavinia Chiarparin (10)           F         # 103B         Female 10-10 50 Fly         CWSL-LD         9             1:47.02S         DQ         F # 105B		-						
49.06S	4:03.89S DQ	) F	# 302B	Female 10-10 200 Free	CWSL-LD			
1:53.688 DQ       F       # 406B       Female 10-10 100 IM       CWSL-LD	58.78S	F	# 304B	Female 10-10 50 Breast	CWSL-LD	17		-9.22
1:46.53S			# 404B	Female 10-10 50 Back	CWSL-LD	13		-13.47
Franciszek Chalaczkiewicz (11) M           53.34\$ DQ         F #104C         Male 11-11 50 Breast         CWSL-LD              37.66\$         F #403C         Male 11-11 50 Free         CWSL-LD         4             Tristan Chan (9) M           3:20.52\$         F #102A         Male 8-9 200 Free         CWSL-LD         5             51.53\$         F #104A         Male 8-9 50 Breast         CWSL-LD         3             Lavinia Chiarparin (10) F           1:01.40\$         F #103B         Female 10-10 50 Fly         CWSL-LD         9             1:47.02\$         DQ         F #105B         Female 10-10 100 Back         CWSL-LD              42.91\$         F #203B         Female 10-10 100 Breast         CWSL-LD         16             2:03.25\$         F #205B         Female 10-10 100 Breast         CWSL-LD         13             Timur Choudhury (8)           1:05.20\$         F #104A         Male 8-9 50 Breast         CWSL-LD         14          1.30 <td>1:53.68S DQ</td> <td>) F</td> <td># 406B</td> <td>Female 10-10 100 IM</td> <td>CWSL-LD</td> <td></td> <td></td> <td></td>	1:53.68S DQ	) F	# 406B	Female 10-10 100 IM	CWSL-LD			
53.34\$ DQ       F       # 104C       Male 11-11 50 Breast       CWSL-LD             37.66\$       F       # 403C       Male 11-11 50 Free       CWSL-LD       4           Tristan Chan (9) M         3:20.52\$       F       # 102A       Male 8-9 200 Free       CWSL-LD       5            51.53\$       F       # 104A       Male 8-9 50 Breast       CWSL-LD       3            Lavinia Chiarparin (10) F         1:01.40\$       F       # 103B       Female 10-10 50 Fly       CWSL-LD       9            1:47.02\$       DQ       F       # 105B       Female 10-10 100 Back       CWSL-LD             42.91\$       F       # 203B       Female 10-10 50 Free       CWSL-LD       16            2:03.25\$       F       # 205B       Female 10-10 100 Breast       CWSL-LD       13           Timur Choudhury (8)       M         1:05.20\$       F       # 104A       Male 8-9 50 Breast       C	1:46.53\$	F	# 408B	Female 10-10 100 Free	CWSL-LD	15		
53.34\$ DQ       F       # 104C       Male 11-11 50 Breast       CWSL-LD             37.66\$       F       # 403C       Male 11-11 50 Free       CWSL-LD       4           Tristan Chan (9) M         3:20.52\$       F       # 102A       Male 8-9 200 Free       CWSL-LD       5            51.53\$       F       # 104A       Male 8-9 50 Breast       CWSL-LD       3            Lavinia Chiarparin (10) F         1:01.40\$       F       # 103B       Female 10-10 50 Fly       CWSL-LD       9            1:47.02\$       DQ       F       # 105B       Female 10-10 100 Back       CWSL-LD             42.91\$       F       # 203B       Female 10-10 50 Free       CWSL-LD       13           2:03.25\$       F       # 205B       Female 10-10 100 Breast       CWSL-LD       13           Timur Choudhury (8)         1:05.20\$       F       # 104A       Male 8-9 50 Breast       CWSL-LD       19	Franciszek Chal	aczkiewic	z (11) M	1				
Tristan Chan (9) M         3:20.52S       F # 102A       Male 8-9 200 Free       CWSL-LD       5           51.53S       F # 104A       Male 8-9 50 Breast       CWSL-LD       3           Lavinia Chiarparin (10) F         1:01.40S       F # 103B       Female 10-10 50 Fly       CWSL-LD       9            1:47.02S       DQ       F # 105B       Female 10-10 100 Back       CWSL-LD             42.91S       F # 203B       Female 10-10 50 Free       CWSL-LD       16            2:03.25S       F # 205B       Female 10-10 100 Breast       CWSL-LD       13           Timur Choudhury (8) W         1:05.20S       F # 104A       Male 8-9 50 Breast       CWSL-LD       14        1.30         54.87S       F # 204A       Male 8-9 50 Back       CWSL-LD       19        1.44					CWSL-LD			
3:20.52S       F # 102A       Male 8-9 200 Free       CWSL-LD       5           51.53S       F # 104A       Male 8-9 50 Breast       CWSL-LD       3           Lavinia Chiarparin (10) F         1:01.40S       F # 103B       Female 10-10 50 Fly       CWSL-LD       9            1:47.02S       DQ       F # 105B       Female 10-10 100 Back       CWSL-LD             42.91S       F # 203B       Female 10-10 50 Free       CWSL-LD       16            2:03.25S       F # 205B       Female 10-10 100 Breast       CWSL-LD       13           Timur Choudhury (8) M         1:05.20S       F # 104A       Male 8-9 50 Breast       CWSL-LD       14        1.30         54.87S       F # 204A       Male 8-9 50 Back       CWSL-LD       19        1.44	37.66S	F	# 403C	Male 11-11 50 Free	CWSL-LD	4		
3:20.52S       F # 102A       Male 8-9 200 Free       CWSL-LD       5           51.53S       F # 104A       Male 8-9 50 Breast       CWSL-LD       3           Lavinia Chiarparin (10) F         1:01.40S       F # 103B       Female 10-10 50 Fly       CWSL-LD       9            1:47.02S       DQ       F # 105B       Female 10-10 100 Back       CWSL-LD             42.91S       F # 203B       Female 10-10 50 Free       CWSL-LD       16            2:03.25S       F # 205B       Female 10-10 100 Breast       CWSL-LD       13           Timur Choudhury (8) M         1:05.20S       F # 104A       Male 8-9 50 Breast       CWSL-LD       14        1.30         54.87S       F # 204A       Male 8-9 50 Back       CWSL-LD       19        1.44	Tristan Chan (9	) M						
51.53S         F         # 104A         Male 8-9 50 Breast         CWSL-LD         3             Lavinia Chiarparin (10)         F         # 103B         Female 10-10 50 Fly         CWSL-LD         9              1:01.40S         F         # 103B         Female 10-10 100 Break         CWSL-LD         9	•	-	# 102A	Male 8-9 200 Free	CWSL-LD	5		
Lavinia Chiarparin (10) F         1:01.40S       F # 103B       Female 10-10 50 Fly       CWSL-LD       9           1:47.02S       DQ       F # 105B       Female 10-10 100 Back       CWSL-LD             42.91S       F # 203B       Female 10-10 50 Free       CWSL-LD       16            2:03.25S       F # 205B       Female 10-10 100 Breast       CWSL-LD       13            Timur Choudhury (8) W         1:05.20S       F # 104A       Male 8-9 50 Breast       CWSL-LD       14        1.30         54.87S       F # 204A       Male 8-9 50 Back       CWSL-LD       19        1.44								
1:01.40S       F # 103B       Female 10-10 50 Fly       CWSL-LD       9           1:47.02S       DQ       F # 105B       Female 10-10 100 Back       CWSL-LD            42.91S       F # 203B       Female 10-10 50 Free       CWSL-LD       16           2:03.25S       F # 205B       Female 10-10 100 Breast       CWSL-LD       13           Timur Choudhury (8) M         1:05.20S       F # 104A       Male 8-9 50 Breast       CWSL-LD       14        1.30         54.87S       F # 204A       Male 8-9 50 Back       CWSL-LD       19        1.44								
1:47.02S DQ       F # 105B       Female 10-10 100 Back       CWSL-LD             42.91S       F #203B       Female 10-10 50 Free       CWSL-LD       16           2:03.25S       F #205B       Female 10-10 100 Breast       CWSL-LD       13           Timur Choudhury (8) M         1:05.20S       F #104A       Male 8-9 50 Breast       CWSL-LD       14        1.30         54.87S       F #204A       Male 8-9 50 Back       CWSL-LD       19        1.44	-			Famala 10 10 50 Fly	CMSLID	۵		
42.91S F # 203B Female 10-10 50 Free CWSL-LD 16 2:03.25S F # 205B Female 10-10 100 Breast CWSL-LD 13  Timur Choudhury (8) M  1:05.20S F # 104A Male 8-9 50 Breast CWSL-LD 14 1.30 54.87S F # 204A Male 8-9 50 Back CWSL-LD 19 1.44				-				
2:03.25S F # 205B Female 10-10 100 Breast CWSL-LD 13  Timur Choudhury (8) M  1:05.20S F # 104A Male 8-9 50 Breast CWSL-LD 14 1.30  54.87S F # 204A Male 8-9 50 Back CWSL-LD 19 1.44	•	•						
Timur Choudhury (8) M         1:05.20S       F # 104A       Male 8-9 50 Breast       CWSL-LD       14        1.30         54.87S       F # 204A       Male 8-9 50 Back       CWSL-LD       19        1.44								<del></del>
1:05.20S       F # 104A       Male 8-9 50 Breast       CWSL-LD       14        1.30         54.87S       F # 204A       Male 8-9 50 Back       CWSL-LD       19        1.44			# 403B	Tennaie TO-TO TOO DIEASE	C44.2F-FD	13		
54.87S F # 204A Male 8-9 50 Back CWSL-LD 19 1.44								
1:46.60S F # 208A Male 8-9 100 Free CWSL-LD 13								
	1:46.60\$	F	# 208A	Male 8-9 100 Free	CWSL-LD	13		

Time	F/P/S	Event		Place	Points	Improv
Maia Colquhoun	ı (8) F					
54.75S DQ		Female 8-9 50 Fly	CWSL-LD			
1:55.01S	F #105A	Female 8-9 100 Back	CWSL-LD	4		-19.18
44.22S	F # 203A	Female 8-9 50 Free	CWSL-LD	14		-2.39
51.22S	F #404A	Female 8-9 50 Back	CWSL-LD	12		1.01
1:56.60S DQ	F #406A	Female 8-9 100 IM	CWSL-LD			
1:44.18S	F #408A	Female 8-9 100 Free	CWSL-LD	15		
Florence Conrac	d Stafford (13) F					
1:31.748	F #105E	Female 13-13 100 Back	CWSL-LD	6		-11.26
3:25.918	F #107E	Female 13-13 200 Breast	CWSL-LD	2		-6.00
3:06.53\$	F # 201E	Female 13-13 200 IM	CWSL-LD	3		
34.99S	F # 203E	Female 13-13 50 Free	CWSL-LD	7		
1:37.24S	F # 205E	Female 13-13 100 Breast	CWSL-LD	5		-0.84
44.65S	F #304E	Female 13-13 50 Breast	CWSL-LD	4		0.57
3:13.93S	F #306E	Female 13-13 200 Back	CWSL-LD	5		0.74
Olivia Conrad St	afford (10) F					
1:53.618	F #105B	Female 10-10 100 Back	CWSL-LD	12		
45.14S	F # 203B	Female 10-10 50 Free	CWSL-LD	18		
1:53.46S	F # 205B	Female 10-10 100 Breast	CWSL-LD	9		
Rebecca Cullen	(14) F					
2:45.57\$	F #302F	Female 14 & Over 200 Free	CWSL-LD	5		
1:31.85S	F #308F	Female 14 & Over 100 Fly	CWSL-LD	5		-4.91
Dmytro Danyler	ıko (10) M					
3:06.39S	F #102B	Male 10-10 200 Free	CWSL-LD	4		-16.19
49.44S	F #104B	Male 10-10 50 Breast	CWSL-LD	4		-2.06
X 3:52.16S DQ	F #106B	Male 10-10 200 Back	CWSL-LD			
41.15S	F #303B	Male 10-10 50 Fly	CWSL-LD	2		-5.99
1:36.08S	F #305B	Male 10-10 100 Back	CWSL-LD	2		-0.96
3:41.60S	F #307B	Male 10-10 200 Breast	CWSL-LD	2		
3:27.39S	F #401B	Male 10-10 200 IM	CWSL-LD	4		
38.68S	F # 403B	Male 10-10 50 Free	CWSL-LD	5		-6.59
1:44.26\$	F #405B	Male 10-10 100 Breast	CWSL-LD	3		-7.31
Kian Davis (8)	M					
NS	F #303A	Male 8-9 50 Fly	CWSL-LD			
NS	F #305A	Male 8-9 100 Back	CWSL-LD			
Aryaan Din (15	) M					
2:01.66S	F #102F	Male 14 & Over 200 Free	CWSL-LD	1		-4.06
33.00S	F # 104F	Male 14 & Over 50 Breast	CWSL-LD	1		0.40
2:25.13S	F #106F	Male 14 & Over 200 Back	CWSL-LD	1		-27.28
1:03.54S	F #108F	Male 14 & Over 100 Fly	CWSL-LD	1		-15.07
29.68S	F # 204F	-	CWSL-LD	1		-5.71
1:03.40S	F #206F		CWSL-LD	1		-9.58
55.69S	F #208F		CWSL-LD	2		-0.57
27.92S	F #303F		CWSL-LD	1		-1.01
1:06.50S	F #305F	-	CWSL-LD	2		-12.16
25.448	F #403F		CWSL-LD	1		-0.36
1:13.598	F #405F		CWSL-LD	2		1.63
2:45.26S	F #407F		CWSL-LD	4		
3:				-		

Time	F/P/S	3	Event		Place	Points	Improv
Kamran Din	(14) M						
33.298	F	# 104F	Male 14 & Over 50 Breast	CWSL-LD	2		0.28
1:06.78\$	F	# 108F	Male 14 & Over 100 Fly	CWSL-LD	4		
4:36.56\$	F	# 202E	Male 14 & Over 400 Free	CWSL-LD	1		
1:06.29\$	F	# 206F	Male 14 & Over 100 IM	CWSL-LD	2		-4.22
59.26S	F	# 208F	Male 14 & Over 100 Free	CWSL-LD	4		-0.14
29.75S	F	# 303F	Male 14 & Over 50 Fly	CWSL-LD	4		0.52
1:08.51\$	F	# 305F	Male 14 & Over 100 Back	CWSL-LD	5		-0.68
26.96S	F	# 403F	Male 14 & Over 50 Free	CWSL-LD	3		-0.35
1:11.81\$	F	# 405F	Male 14 & Over 100 Breast	CWSL-LD	1		-1.61
2:31.88S	F	# 407F	Male 14 & Over 200 Fly	CWSL-LD	1		
Matthew Dio	nisio (11) M						
3:11.43\$		# 102C	Male 11-11 200 Free	CWSL-LD	2		-19.19
53.47S	F	# 104C	Male 11-11 50 Breast	CWSL-LD	4		-2.67
X 3:36.06S	DQ F	# 106C	Male 11-11 200 Back	CWSL-LD			
43.70S	F	# 204C	Male 11-11 50 Back	CWSL-LD	4		-2.74
1:38.03\$	F	# 206C	Male 11-11 100 IM	CWSL-LD	5		-7.19
45.37S	F	# 303C	Male 11-11 50 Fly	CWSL-LD	4		-5.95
1:34.46\$	F	# 305C	Male 11-11 100 Back	CWSL-LD	2		-9.92
NS	F	# 307C	Male 11-11 200 Breast	CWSL-LD			
3:31.97\$	F	# 401C	Male 11-11 200 IM	CWSL-LD	3		
39.96S	F	# 403C	Male 11-11 50 Free	CWSL-LD	5		-3.16
Clementine D	Dowden (12)	F					
3:13.58\$		# 201D	Female 12-12 200 IM	CWSL-LD	5		-10.58
34.27S	F	# 203D	Female 12-12 50 Free	CWSL-LD	7		-1.94
2:53.43\$	F	# 302D	Female 12-12 200 Free	CWSL-LD	5		-1.76
3:06.24\$	F	# 306D	Female 12-12 200 Back	CWSL-LD	4		-11.21
39.81S	F	# 404D	Female 12-12 50 Back	CWSL-LD	5		-2.00
1:32.518	F	# 406D	Female 12-12 100 IM	CWSL-LD	5		-2.15
1:19.66\$	F	# 408D	Female 12-12 100 Free	CWSL-LD	7		-2.75
Dimitar Drag	anov (12) M	I					
2:41.54S		# 102D	Male 12-12 200 Free	CWSL-LD	5		
1:30.41S	F	# 108D	Male 12-12 100 Fly	CWSL-LD	3		
39.58\$		# 204D	Male 12-12 50 Back	CWSL-LD	5		
1:25.738	F	# 206D	Male 12-12 100 IM	CWSL-LD	3		
1:19.70S	F	# 208D	Male 12-12 100 Free	CWSL-LD	6		
39.25S	F	# 303D	Male 12-12 50 Fly	CWSL-LD	4		
3:23.31S	F	# 307D	Male 12-12 200 Breast	CWSL-LD	3		
3:00.97\$	F	# 401D	Male 12-12 200 IM	CWSL-LD	3		
1:39.63\$	F	# 405D	Male 12-12 100 Breast	CWSL-LD	3		

Time	F/P/	S	Event		Place	Points	Improv
Eva Dramiti	nos (10) F						
3:19.96\$	F	# 201B	Female 10-10 200 IM	CWSL-LD	9		-2.16
37.18S	F	# 203B	Female 10-10 50 Free	CWSL-LD	10		-3.78
NS	F	# 205B	Female 10-10 100 Breast	CWSL-LD			
3:03.48S	F	# 302B	Female 10-10 200 Free	CWSL-LD	8		-16.77
50.878	F	# 304B	Female 10-10 50 Breast	CWSL-LD	6		-2.92
3:24.59\$	F	# 306B	Female 10-10 200 Back	CWSL-LD	4		
1:36.58S	F	# 308B	Female 10-10 100 Fly	CWSL-LD	3		2.08
43.22S	F	# 404B	Female 10-10 50 Back	CWSL-LD	6		-0.37
1:34.92S	F	# 406B	Female 10-10 100 IM	CWSL-LD	7		2.28
1:25.90S	F	# 408B	Female 10-10 100 Free	CWSL-LD	7		-16.85
Adrien Dura	ntel (13) M						
2:12.15S	F	# 102E	Male 13-13 200 Free	CWSL-LD	3		-2.22
2:25.48\$	F	# 106E	Male 13-13 200 Back	CWSL-LD	2		-0.52
31.13S	F	# 204E	Male 13-13 50 Back	CWSL-LD	2		-0.63
1:00.44S	F	# 208E	Male 13-13 100 Free	CWSL-LD	3		-0.72
32.19S	F	# 303E	Male 13-13 50 Fly	CWSL-LD	5		-2.61
1:07.16S	F	# 305E	Male 13-13 100 Back	CWSL-LD	2		-0.64
Marc Duran	tel (8) M						
1:05.578		# 104A	Male 8-9 50 Breast	CWSL-LD	15		0.81
54.14S	F	# 204A	Male 8-9 50 Back	CWSL-LD	17		-2.19
2:05.76S	F	# 208A	Male 8-9 100 Free	CWSL-LD	16		
Vasilisa Dva	konyuk (9) I	7					
57.34S		# 103A	Female 8-9 50 Fly	CWSL-LD			
2:00.78S	F	# 105A	Female 8-9 100 Back	CWSL-LD	7		
48.11S	F	# 203A	Female 8-9 50 Free	CWSL-LD	21		-4.67
2:16.17S	F	# 205A	Female 8-9 100 Breast	CWSL-LD	10		
56.86S	F	# 404A	Female 8-9 50 Back	CWSL-LD	22		
2:04.27\$		# 406A	Female 8-9 100 IM	CWSL-LD			
1:52.11S		# 408A	Female 8-9 100 Free	CWSL-LD	20		
47.13S	arkowi (12) i	# 104D	Male 12-12 50 Breast	CWSL-LD	4		
1:28.84\$		# 101D	Male 12-12 100 Fly	CWSL-LD			
40.96\$	F F		Male 12-12 50 Back	CWSL-LD	7		
1:27.138	F	# 206D	Male 12-12 100 IM	CWSL-LD	4		
1:19.17\$	F	# 208D	Male 12-12 100 Free	CWSL-LD	5		
39.24\$	F	# 303D	Male 12-12 50 Fly	CWSL-LD	3		
1:32.35\$	F		Male 12-12 100 Back	CWSL-LD	5		
3:08.76S			Male 12-12 100 Back Male 12-12 200 IM	CWSL-LD			
34.61\$	F F	# 403D	Male 12-12 50 Free	CWSL-LD	5		
1:43.78\$	F		Male 12-12 100 Breast	CWSL-LD	4		
1.73.703	r	11 1030	Plate 12 12 100 Diedst	C 44.2 L- TD	7		

Time	F/P/S	5	Event		Place	Points	Improv
Aslan Eler (10)	M						
2:40.15S	F	# 102B	Male 10-10 200 Free	CWSL-LD	1		-15.43
47.72S	F	# 104B	Male 10-10 50 Breast	CWSL-LD	2		-1.70
3:16.26S	F	# 106B	Male 10-10 200 Back	CWSL-LD	1		-2.00
1:36.998	F	# 108B	Male 10-10 100 Fly	CWSL-LD	1		-6.53
NS	F	# 202A	Male 10-10 400 Free	CWSL-LD			
40.31S	F	# 204B	Male 10-10 50 Back	CWSL-LD	1		0.46
1:26.83S	F	# 206B	Male 10-10 100 IM	CWSL-LD	1		-6.27
1:17.08S	F	# 208B	Male 10-10 100 Free	CWSL-LD	1		-1.72
36.66S	F	# 303B	Male 10-10 50 Fly	CWSL-LD	1		
1:27.84\$	F	# 305B	Male 10-10 100 Back	CWSL-LD	1		-4.15
3:47.37S	F	# 307B	Male 10-10 200 Breast	CWSL-LD	3		
3:13.10S	F	# 401B	Male 10-10 200 IM	CWSL-LD	1		-1.11
33.56S	F	# 403B	Male 10-10 50 Free	CWSL-LD	1		0.65
1:44.12S	F	# 405B	Male 10-10 100 Breast	CWSL-LD	2		-6.09
Kaplan Eler (7)	) M						
50.938		# 204	Male 8 & Over 50 Back	CWSL-LD	6		-4.90
1:51.97S	F	# 206	Male 8 & Over 100 IM	CWSL-LD	8		
1:42.96S	F	# 208	Male 8 & Over 100 Free	CWSL-LD	9		
49.39S	F	# 303	Male 8 & Over 50 Fly	CWSL-LD	7		
45.39S	F	# 403	Male 8 & Over 50 Free	CWSL-LD	8		-7.58
Nevine Elhuni	(10) F						
45.14S	F	# 203B	Female 10-10 50 Free	CWSL-LD	18		-2.60
1:59.55S	F	# 205B	Female 10-10 100 Breast	CWSL-LD	11		
3:42.69S	F	# 302B	Female 10-10 200 Free	CWSL-LD	12		
51.748	F	# 304B	Female 10-10 50 Breast	CWSL-LD	7		
Hanna Elmarin	i (8) F						
1:11.03S D(		# 304A	Female 8-9 50 Breast	CWSL-LD			
Jasmine Elmari							
3:14.42S		# 302C	Female 11-11 200 Free	CWSL-LD	4		
		# 3020	remale 11-11 200 Free	CW3L-LD	4		
Sofia Elmarini 54.98S		# 304B	Female 10-10 50 Breast	CWSL-LD	11		
Faaris Ihab El-S	Saie (12) N	И					
4:14.97S		# 102D	Male 12-12 200 Free	CWSL-LD	7		
1:01.26S DO		# 104D	Male 12-12 50 Breast	CWSL-LD			
56.70S DO	-	# 204D	Male 12-12 50 Back	CWSL-LD			
NS	F	# 208D	Male 12-12 100 Free	CWSL-LD			
Iman El-Saie (9	)) F						
5:13.47S	F	# 107A	Female 8-9 200 Breast	CWSL-LD	2		
1:01.93\$	F	# 203A	Female 8-9 50 Free	CWSL-LD	28		
2:33.18S		# 205A	Female 8-9 100 Breast	CWSL-LD	11		
	_			-			

Time	F/P/S	5	Event		Place	Points	Improv
Benjamin Emer	ton (12) I	М					
52.40S	F	# 104D	Male 12-12 50 Breast	CWSL-LD	6		
6:43.82S	F	# 202C	Male 12-12 400 Free	CWSL-LD	4		
42.92S	F	# 204D	Male 12-12 50 Back	CWSL-LD	9		
1:37.34S	F	# 206D	Male 12-12 100 IM	CWSL-LD	6		
1:29.04S	F	# 208D	Male 12-12 100 Free	CWSL-LD	10		
44.47S	F	# 303D	Male 12-12 50 Fly	CWSL-LD	6		
1:35.34S DQ	) F	# 305D	Male 12-12 100 Back	CWSL-LD			
NS	F	# 401D	Male 12-12 200 IM	CWSL-LD			
35.86S	F	# 403D	Male 12-12 50 Free	CWSL-LD	7		
Isabella Emerto	n (9) F						
1:02.01S DQ	) F	# 103A	Female 8-9 50 Fly	CWSL-LD			
2:07.10S	F	# 105A	Female 8-9 100 Back	CWSL-LD	8		
48.57S	F	# 203A	Female 8-9 50 Free	CWSL-LD	22		-8.07
1:03.94S	F	# 304A	Female 8-9 50 Breast	CWSL-LD	20		-8.04
54.54S	F	# 404A	Female 8-9 50 Back	CWSL-LD	18		0.49
2:08.31S	F	# 406A	Female 8-9 100 IM	CWSL-LD	18		-7.46
1:56.398	F	# 408A	Female 8-9 100 Free	CWSL-LD	21		
George English	(14) M						
37.08S		# 104F	Male 14 & Over 50 Breast	CWSL-LD	5		
1:15.33\$	F	# 206F	Male 14 & Over 100 IM	CWSL-LD	6		
1:05.09S	F	# 208F	Male 14 & Over 100 Free	CWSL-LD	7		
2:41.92S	F	# 401F	Male 14 & Over 200 IM	CWSL-LD	2		
29.28S	F	# 403F	Male 14 & Over 50 Free	CWSL-LD	7		
Eleanor Ewart	(9) F						
NS		# 203A	Female 8-9 50 Free	CWSL-LD			
Sally Ezzeddine	(11) F						
50.17S		# 103C	Female 11-11 50 Fly	CWSL-LD	3		
38.94S	F	# 203C	Female 11-11 50 Free	CWSL-LD	5		
1:51.90S	F	# 205C	Female 11-11 100 Breast	CWSL-LD	3		
42.62S	F	# 404C	Female 11-11 50 Back	CWSL-LD	2		
1:43.43\$	F	# 406C	Female 11-11 100 IM	CWSL-LD	3		
1:33.81S	F	# 408C	Female 11-11 100 Free	CWSL-LD	7		
Christopher Fei	nichell (10	) M					
53.90S	•	# 104B	Male 10-10 50 Breast	CWSL-LD	11		-1.77
45.67S	F	# 204B	Male 10-10 50 Back	CWSL-LD	8		-2.59
1:41.11S	F	# 206B	Male 10-10 100 IM	CWSL-LD	5		-6.33
45.25S	F	# 303B	Male 10-10 50 Fly	CWSL-LD	5		-0.38
38.62S	F	# 403B	Male 10-10 50 Free	CWSL-LD	4		-1.76
Calista Fenton	(8) F						
42.32S		# 203A	Female 8-9 50 Free	CWSL-LD	6		-11.53
1:51.40S		# 205A	Female 8-9 100 Breast	CWSL-LD	2		
49.68\$	F	# 304A	Female 8-9 50 Breast	CWSL-LD	1		-4.80
54.98\$	F	# 404A	Female 8-9 50 Back	CWSL-LD	19		-6.07
1:39.51S		# 408A	Female 8-9 100 Free	CWSL-LD	10		

Time	F/P/S	;	Event		Place	Points	Improv
Valentina Fento	on (13) F						
37.23S		# 103E	Female 13-13 50 Fly	CWSL-LD	2		-0.63
1:19.718	F	# 105E	Female 13-13 100 Back	CWSL-LD	1		2.96
31.76S	F	# 203E	Female 13-13 50 Free	CWSL-LD	1		0.91
1:33.68\$	F	# 205E	Female 13-13 100 Breast	CWSL-LD	2		1.69
41.90S	F	# 304E	Female 13-13 50 Breast	CWSL-LD	2		-0.39
2:51.55\$	F	# 306E	Female 13-13 200 Back	CWSL-LD	1		5.84
36.42S	F	# 404E	Female 13-13 50 Back	CWSL-LD	1		1.48
1:25.948	F	# 406E	Female 13-13 100 IM	CWSL-LD	1		5.00
1:12.91S	F	# 408E	Female 13-13 100 Free	CWSL-LD	2		2.96
Pietro Ferrares	i (14) M						
2:24.89\$		# 102F	Male 14 & Over 200 Free	CWSL-LD	5		6.11
38.61S	F	# 104F	Male 14 & Over 50 Breast	CWSL-LD	6		-0.87
35.26S	F	# 204F	Male 14 & Over 50 Back	CWSL-LD	5		0.12
1:17.42S	F	# 206F	Male 14 & Over 100 IM	CWSL-LD	7		-0.38
1:05.10S	F	# 208F	Male 14 & Over 100 Free	CWSL-LD	8		1.72
NS	F	# 303F	Male 14 & Over 50 Fly	CWSL-LD			
NS	F	# 307F	Male 14 & Over 200 Breast	CWSL-LD			
29.25S	F	# 403F	Male 14 & Over 50 Free	CWSL-LD	6		0.66
1:26.04S	F	# 405F	Male 14 & Over 100 Breast	CWSL-LD	4		-0.69
Carlo Fischetti	(12) M						
NS		# 108D	Male 12-12 100 Fly	CWSL-LD			
1:51.53S DO	Q F	# 206D	Male 12-12 100 IM	CWSL-LD			
DQ	F	# 403D	Male 12-12 50 Free	CWSL-LD			
Miguel Fonseca	(10) M						
3:06.948		# 102B	Male 10-10 200 Free	CWSL-LD	5		-19.61
NS	F	# 104B	Male 10-10 50 Breast	CWSL-LD			
43.53S	F	# 204B	Male 10-10 50 Back	CWSL-LD	2		
1:38.35S	F	# 206B	Male 10-10 100 IM	CWSL-LD	3		-7.11
1:24.81S	F	# 208B	Male 10-10 100 Free	CWSL-LD	4		
42.84S	F	# 303B	Male 10-10 50 Fly	CWSL-LD	4		-3.58
3:32.80S	F	# 401B	Male 10-10 200 IM	CWSL-LD	5		
38.03S	F	# 403B	Male 10-10 50 Free	CWSL-LD	3		
Parsa Fouladi (	11) M						
1:30.65\$	. ,	# 208C	Male 11-11 100 Free	CWSL-LD	4		
NS	F	# 403C	Male 11-11 50 Free	CWSL-LD			
Tekla Frankopa	ın (9) F						
55.86S		# 103A	Female 8-9 50 Fly	CWSL-LD	9		
1:58.34S	F	# 105A	Female 8-9 100 Back	CWSL-LD	6		
48.07S	F	# 203A	Female 8-9 50 Free	CWSL-LD	20		
2:13.44\$	F	# 205A	Female 8-9 100 Breast	CWSL-LD	9		
58.16S	F	# 304A	Female 8-9 50 Breast	CWSL-LD	14		
50.40S	F	# 404A	Female 8-9 50 Back	CWSL-LD	10		
1:51.738	F	# 406A	Female 8-9 100 IM	CWSL-LD	13		
1:44.47S	F	# 408A	Female 8-9 100 Free	CWSL-LD	16		

Time	F/P/S	Event		Place	Points	Improv
Lauren Furtado	(9) F					
1:03.70S DQ		03A Female 8-9 50 Fly	CWSL-LD			
NS	F #2	03A Female 8-9 50 Free	CWSL-LD			
NS	F #2	05A Female 8-9 100 Breast	CWSL-LD			
NS	F #3	04A Female 8-9 50 Breast	CWSL-LD			
NS	F #4	04A Female 8-9 50 Back	CWSL-LD			
NS	F #4	06A Female 8-9 100 IM	CWSL-LD			
Carmen Gad-All	a (10) F					
55.15S DQ		04B Female 10-10 50 Breast	CWSL-LD			
DQ	F #3	06B Female 10-10 200 Back	CWSL-LD			
Ines Garcia-Plac	ido (9) F					
40.08S	F #2	03A Female 8-9 50 Free	CWSL-LD	3		
51.44S	F #3	04A Female 8-9 50 Breast	CWSL-LD	6		
1:32.12S	F #4	08A Female 8-9 100 Free	CWSL-LD	3		
Maya Garman (	11) F					
1:25.628	F # 1	05C Female 11-11 100 Back	CWSL-LD	1		-1.67
2:45.62S	F #3		CWSL-LD	1		-20.09
Nikita Gill (10)	М					
3:30.118	F #1	02B Male 10-10 200 Free	CWSL-LD	10		
1:00.40\$	F #1		CWSL-LD	16		
50.468	F #2		CWSL-LD	16		
1:54.558	F #2		CWSL-LD	15		
1:39.18\$	F #2		CWSL-LD	13		
1:00.498	F #3		CWSL-LD	13		
1:45.958	F #3	•	CWSL-LD	6		
4:24.66S	F #3		CWSL-LD	5		
43.37S	F #4		CWSL-LD	14		
2:08.78\$	F #4		CWSL-LD	10		
Tristan Glasmao	thor (O) M					
47.92S	F #2	04A Male 8-9 50 Back	CWSL-LD	8		-3.03
1:51.12S	F #2		CWSL-LD	10		
1:38.45\$	F #2		CWSL-LD	9		-13.02
Victoria Gomez			•			
51.17S	Villamizar (1) F #1	•	CWSL-LD	4		-6.70
1:47.37S	F #1		CWSL-LD	4		-4.26
4:19.298	F #1		CWSL-LD	1		
		7 Temate 11 11 200 Breast	GWOL ED	-		
<b>Benjamin Gort-l</b> 57.26S DQ	. ,	04A Male 8-9 50 Breast	CWSL-LD			
48.93S	F #1		CWSL-LD	10		
1:55.70S	F #2		CWSL-LD	10		
1:52.59S	F #2		CWSL-LD	14		
49.83S	F #4		CWSL-LD	17		
47.033	г #4	USA Wate 0-7 30 Fiee	CAA2T-FD	1/		

Time	F/P/	S	Event		Place	Points	Improv
Michela Grah	nam (9) F						-
NS		# 103A	Female 8-9 50 Fly	CWSL-LD			
NS	F	# 203A	Female 8-9 50 Free	CWSL-LD			
NS	F	# 304A	Female 8-9 50 Breast	CWSL-LD			
NS	F	# 404A	Female 8-9 50 Back	CWSL-LD			
NS	F	# 406A	Female 8-9 100 IM	CWSL-LD			
NS	F	# 408A	Female 8-9 100 Free	CWSL-LD			
Henry Gray (	(13) M						
2:10.415	(, F	# 102E	Male 13-13 200 Free	CWSL-LD	2		-2.76
37.14S	F	# 104E	Male 13-13 50 Breast	CWSL-LD	3		-2.35
2:28.69\$	F	# 106E	Male 13-13 200 Back	CWSL-LD	3		-2.63
1:07.698	F	# 108E	Male 13-13 100 Fly	CWSL-LD	2		0.56
4:38.73S	F	# 202D	Male 13-13 400 Free	CWSL-LD	2		-0.67
32.35S	F	# 204E	Male 13-13 50 Back	CWSL-LD	3		0.12
1:10.958	F		Male 13-13 100 IM	CWSL-LD	2		-0.90
1:00.248	F		Male 13-13 100 Free	CWSL-LD	2		-1.22
5:12.16S	F	# 301D	Male 13-13 400 IM	CWSL-LD	2		-73.84
30.928	F		Male 13-13 50 Fly	CWSL-LD	2		-0.02
1:09.628	F		Male 13-13 100 Back	CWSL-LD	3		-0.30
2:28.37\$	F		Male 13-13 200 IM	CWSL-LD	2		-3.61
DQ	F		Male 13-13 50 Free	CWSL-LD			<del></del>
2:32.67\$	F		Male 13-13 200 Fly	CWSL-LD	2		-5.76
Niccolo Greco	o (10) M						
55.87S		# 104B	Male 10-10 50 Breast	CWSL-LD	14		
1:52.25S	F	# 206B	Male 10-10 100 IM	CWSL-LD	14		
1:40.86S	F	# 208B	Male 10-10 100 Free	CWSL-LD	14		
41.11S	F	# 403B	Male 10-10 50 Free	CWSL-LD	10		
Thomasina G	Grove (12) F						
30.14S	F		Female 12-12 50 Fly	CWSL-LD	1		-0.46
2:35.12S	F	# 201D	Female 12-12 200 IM	CWSL-LD	1		-4.02
29.02S	F	# 203D	Female 12-12 50 Free	CWSL-LD	1		-0.62
2:40.27\$	F	# 207D	Female 12-12 200 Fly	CWSL-LD	2		-1.12
1:07.62S	F	# 308D	Female 12-12 100 Fly	CWSL-LD	1		0.15
Luna Halime							
NS		# 203A	Female 8-9 50 Free	CWSL-LD			
NS		# 205A	Female 8-9 100 Breast	CWSL-LD			
Rozerin Halis	c (10) E						
4:03.88S		# 302B	Female 10-10 200 Free	CWSL-LD			
				•···•-			
Hudson Hill 2:40.41S		# 102E	Male 13-13 200 Free	CWSL-LD	9		-11.35
45.36S		# 102E # 104E	Male 13-13 50 Breast	CWSL-LD			-11.35
2:52.63S	F F		Male 13-13 200 Back	CWSL-LD	7		-5.27
2:52.635 37.85S	r F		Male 13-13 200 Back	CWSL-LD			-5.27 -1.11
1:27.03S		# 204E # 206E	Male 13-13 100 IM	CWSL-LD	10 8		-1.11 -3.19
1.47.033	г	# 4U0E	Male 13-13 100 IM	CM2T-TD	Ö		-3.19

Time	F/P/S	Event		Place	Points	Improv
Astrid Hult (11)	F					
6:45.43S	F # 101E	Female 11-11 400 IM	CWSL-LD	2		
41.32S	F # 1030	Female 11-11 50 Fly	CWSL-LD	1		-6.41
1:28.50\$	F # 1050	Female 11-11 100 Back	CWSL-LD	2		1.08
3:12.44\$	F # 2010	Female 11-11 200 IM	CWSL-LD	2		-3.04
35.71S	F # 2030	Female 11-11 50 Free	CWSL-LD	3		0.63
2:47.56S	F #3020	Female 11-11 200 Free	CWSL-LD	2		-8.87
3:07.45S	F #3060	Female 11-11 200 Back	CWSL-LD	2		
1:32.22S	F #3080	Female 11-11 100 Fly	CWSL-LD	2		
5:48.81S	F # 402E	Female 11-11 400 Free	CWSL-LD	1		
1:16.27S	F # 4080	Female 11-11 100 Free	CWSL-LD	3		-1.63
Adam Hussein (	12) M					
2:25.698	F # 102D	Male 12-12 200 Free	CWSL-LD	3		-5.61
42.85S	F # 104D	Male 12-12 50 Breast	CWSL-LD	1		-3.15
2:50.698	F # 106D		CWSL-LD	2		-8.45
36.788	F # 204D	Male 12-12 50 Back	CWSL-LD	3		-2.15
1:20.33S	F # 206D	Male 12-12 100 IM	CWSL-LD	2		-6.16
1:08.12S	F # 208D	Male 12-12 100 Free	CWSL-LD	3		-5.96
35.85S	F #303D	Male 12-12 50 Fly	CWSL-LD	2		-1.03
1:20.09S	F #305D	•	CWSL-LD	3		-4.58
3:16.618	F #307D	Male 12-12 200 Breast	CWSL-LD	2		-19.02
DQ	F # 403D		CWSL-LD			
1:34.315	F # 405D		CWSL-LD	2		1.13
Karim Hussein (	(10) M					
50.85S	Г <b>ГОЈ М</b> F #104E	Male 10-10 50 Breast	CWSL-LD	5		-4.30
44.02S	F # 204E		CWSL-LD	4		-5.30
1:42.85\$	F # 206E		CWSL-LD	6		-6.64
1:29.42S	F # 208E		CWSL-LD	6		-13.12
1:36.72S	F #305E		CWSL-LD	3		
39.02S	F #403E		CWSL-LD	7		-2.05
1:56.70S	F # 405E		CWSL-LD	6		
		Male 10 10 100 Breast	GW3E ED	Ü		
Matthew Huynh	` '		arvar i n	40		
1:01.60S	F # 104A		CWSL-LD	13		
52.03S DQ	F # 403A	Male 8-9 50 Free	CWSL-LD			
Bali Ings-Chamb	ers (9) F					
45.79S	F # 103A	Female 8-9 50 Fly	CWSL-LD	3		
42.65S	F # 203A	Female 8-9 50 Free	CWSL-LD	7		
51.36S	F # 304A	Female 8-9 50 Breast	CWSL-LD	5		
48.43S	F # 404A	Female 8-9 50 Back	CWSL-LD	12		
1:42.68\$	F # 406A	Female 8-9 100 IM	CWSL-LD	3		
Daniel Jazebi (9	) M					
NS	F # 104A	Male 8-9 50 Breast	CWSL-LD			
49.71S	F # 204A	Male 8-9 50 Back	CWSL-LD	13		
1:48.87S	F # 206A	Male 8-9 100 IM	CWSL-LD	9		
53.50S	F #303A	Male 8-9 50 Fly	CWSL-LD	10		
NS	F #305A	Male 8-9 100 Back	CWSL-LD			
4:04.23S	F # 401A	Male 8-9 200 IM	CWSL-LD	5		
41.97S	F # 403A	Male 8-9 50 Free	CWSL-LD	10		

Time	F/P/9	5	Event		Place	Points	Improv
Charlie Juxon (1	0) M						
3:30.72S	-	# 102B	Male 10-10 200 Free	CWSL-LD	11		
55.17S	F	# 104B	Male 10-10 50 Breast	CWSL-LD	12		
48.66S	F	# 204B	Male 10-10 50 Back	CWSL-LD	13		-3.89
1:48.55S	F	# 206B	Male 10-10 100 IM	CWSL-LD	12		-6.36
1:38.48S	F	# 208B	Male 10-10 100 Free	CWSL-LD	12		-6.38
Jago Juxon (13)	M						
2:46.80\$		# 102E	Male 13-13 200 Free	CWSL-LD	10		-14.03
43.71S	F	# 104E	Male 13-13 50 Breast	CWSL-LD	9		-1.17
1:26.80S	F	# 206E	Male 13-13 100 IM	CWSL-LD	7		
1:14.298	F	# 208E	Male 13-13 100 Free	CWSL-LD	10		-7.65
Monty Juxon (13	3) M						
2:39.55\$	-	# 102E	Male 13-13 200 Free	CWSL-LD	8		-8.07
43.55S	F	# 104E	Male 13-13 50 Breast	CWSL-LD	8		-0.76
1:22.92S	F	# 206E	Male 13-13 100 IM	CWSL-LD	6		-7.76
1:12.70S	F	# 208E	Male 13-13 100 Free	CWSL-LD	9		-4.41
Aurelia Kastelic	(9) F						
1:04.81S DQ		# 103A	Female 8-9 50 Fly	CWSL-LD			
1:55.63S		# 105A	Female 8-9 100 Back	CWSL-LD	5		
46.75S		# 203A	Female 8-9 50 Free	CWSL-LD	18		
2:01.97\$		# 205A	Female 8-9 100 Breast	CWSL-LD	5		
57.33S	F	# 304A	Female 8-9 50 Breast	CWSL-LD	11		
49.34S	F	# 404A	Female 8-9 50 Back	CWSL-LD	8		
1:52.878	F	# 406A	Female 8-9 100 IM	CWSL-LD	14		
1:43.63S	F	# 408A	Female 8-9 100 Free	CWSL-LD	14		
Megan Kemp (15	5) F						
31.078	-	# 103F	Female 14 & Over 50 Fly	CWSL-LD	2		-0.49
1:11.66\$	F	# 105F	Female 14 & Over 100 Back	CWSL-LD	2		1.13
2:36.85S	F	# 201F	Female 14 & Over 200 IM	CWSL-LD	1		-15.57
29.49S	F	# 203F	Female 14 & Over 50 Free	CWSL-LD	2		-0.42
2:50.04S	F	# 207F	Female 14 & Over 200 Fly	CWSL-LD	2		-5.99
2:33.87\$	F	# 306F	Female 14 & Over 200 Back	CWSL-LD	2		0.52
1:12.10S	F	# 308F	Female 14 & Over 100 Fly	CWSL-LD	2		-2.02
33.93S		# 404F	Female 14 & Over 50 Back	CWSL-LD	3		-0.06
1:04.41S	F	# 408F	Female 14 & Over 100 Free	CWSL-LD	2		-0.54
Samuel Kemp (1	0) M						
56.078	-	# 204B	Male 10-10 50 Back	CWSL-LD	17		-3.88
2:07.37S		# 206B	Male 10-10 100 IM	CWSL-LD	16		-13.83
2:02.49\$		# 208B	Male 10-10 100 Free	CWSL-LD	17		
1:00.53S		# 303B	Male 10-10 50 Fly	CWSL-LD	14		
52.34S		# 403B	Male 10-10 50 Free	CWSL-LD	18		-7.88
Kamel Khaldi (9	) M						
57.16S	-	# 104A	Male 8-9 50 Breast	CWSL-LD	11		
49.77S DQ		# 204A	Male 8-9 50 Back	CWSL-LD			
1:46.41S		# 206A	Male 8-9 100 IM	CWSL-LD	6		
1:45.06S	F		Male 8-9 100 Free	CWSL-LD	12		<del></del>
50.098	F	# 303A	Male 8-9 50 Fly	CWSL-LD	8		
40.888		# 403A	Male 8-9 50 Free	CWSL-LD	7		
	•		<del>-</del>	- 4	-		

Time	F/P/S	3	Event		Place	Points	Improv
Damjan Kisic (	(12) M						
2:21.43\$	F	# 102D	Male 12-12 200 Free	CWSL-LD	2		
43.32S	F	# 104D	Male 12-12 50 Breast	CWSL-LD	2		-2.87
2:34.95\$	F	# 106D	Male 12-12 200 Back	CWSL-LD	1		-4.75
1:19.98S	F	# 108D	Male 12-12 100 Fly	CWSL-LD	2		
5:04.15S	F	# 202C	Male 12-12 400 Free	CWSL-LD	2		
34.06S	F	# 204D	Male 12-12 50 Back	CWSL-LD	1		-0.08
1:16.698	F	# 206D	Male 12-12 100 IM	CWSL-LD	1		-11.23
1:04.74S	F	# 208D	Male 12-12 100 Free	CWSL-LD	2		-3.24
5:45.79S	F	# 301C	Male 12-12 400 IM	CWSL-LD	2		
33.74S	F	# 303D	Male 12-12 50 Fly	CWSL-LD	1		-1.60
1:13.00S	F	# 305D	Male 12-12 100 Back	CWSL-LD	1		-2.20
2:44.00S	F	# 401D	Male 12-12 200 IM	CWSL-LD	1		-12.85
29.82S	F	# 403D	Male 12-12 50 Free	CWSL-LD	2		-1.59
Vincent Kostid	is (8) M						
53.86S		# 303A	Male 8-9 50 Fly	CWSL-LD	11		
42.03S		# 403A	Male 8-9 50 Free	CWSL-LD	11		
		10011	7 da	0.102 22			
Filip Kostrzak	-	# 104D	Male 10-10 50 Breast	CMCLID			
51.31S 1:47.00S		# 104B		CWSL-LD	6		
	F	# 206B	Male 10-10 100 IM	CWSL-LD	11		10.15
1:37.63\$	F	# 208B	Male 10-10 100 Free	CWSL-LD	11		-18.15
42.85S	F	# 403B	Male 10-10 50 Free	CWSL-LD	13		-8.40
Kamil Kostrzal	k (12) M						
43.58\$	F	# 104D	Male 12-12 50 Breast	CWSL-LD	3		
1:31.85\$	F	# 206D	Male 12-12 100 IM	CWSL-LD	5		
1:22.90S D	Q F	# 208D	Male 12-12 100 Free	CWSL-LD			
42.61S	F	# 303D	Male 12-12 50 Fly	CWSL-LD	5		
35.11S	F	# 403D	Male 12-12 50 Free	CWSL-LD	6		-5.33
Mateusz Krol (	(9) M						
45.35S	F	# 204A	Male 8-9 50 Back	CWSL-LD	2		-5.60
1:43.198	F	# 206A	Male 8-9 100 IM	CWSL-LD	3		-20.46
1:38.10S	F	# 208A	Male 8-9 100 Free	CWSL-LD	8		-6.37
43.518	F	# 303A	Male 8-9 50 Fly	CWSL-LD	4		
3:41.84S D	Q F	# 401A	Male 8-9 200 IM	CWSL-LD			
41.32S	F	# 403A	Male 8-9 50 Free	CWSL-LD	9		
Zane Kumar (9	9) M						
3:22.87\$	-	# 102A	Male 8-9 200 Free	CWSL-LD	6		
58.68\$	F	# 104A	Male 8-9 50 Breast	CWSL-LD	12		
NS	F	# 108A	Male 8-9 100 Fly	CWSL-LD			
47.63S	F	# 204A	Male 8-9 50 Back	CWSL-LD	7		
1:56.19S D		# 206A	Male 8-9 100 IM	CWSL-LD			
1:42.18S	F	# 208A	Male 8-9 100 Free	CWSL-LD	10		
48.85S	F	# 303A	Male 8-9 50 Fly	CWSL-LD	7		
1:44.92S	F	# 305A	Male 8-9 100 Back	CWSL-LD	6		
NS		# 403A	Male 8-9 50 Free	CWSL-LD			
110	1'	" 103A	Maic 0 / JUTICE	CAA 2F-FD			

Time	F/P/S		Event		Place	Points	Improv
Michael Kupsin	(12) M						
2:26.70S		# 102D	Male 12-12 200 Free	CWSL-LD	4		
37.42S	F	# 204D	Male 12-12 50 Back	CWSL-LD	4		-19.53
1:09.37S	F	# 208D	Male 12-12 100 Free	CWSL-LD	4		-21.99
NS	F	# 303D	Male 12-12 50 Fly	CWSL-LD			
1:21.53\$	F	# 305D	Male 12-12 100 Back	CWSL-LD	4		-25.90
2:55.89\$	F	# 401D	Male 12-12 200 IM	CWSL-LD	2		
30.41S	F	# 403D	Male 12-12 50 Free	CWSL-LD	3		-9.27
Emiliya Kuteeva	a (10) F						
1:37.74S		# 105B	Female 10-10 100 Back	CWSL-LD	9		
36.74S	F	# 203B	Female 10-10 50 Free	CWSL-LD	9		
NS	F	# 408B	Female 10-10 100 Free	CWSL-LD			
Matilde La Mag	na (10) F						
39.57\$		# 103B	Female 10-10 50 Fly	CWSL-LD	2		-3.30
1:30.24S	F	# 105B	Female 10-10 100 Back	CWSL-LD	6		0.66
3:32.42S	F	# 107B	Female 10-10 200 Breast	CWSL-LD	3		-23.55
3:15.30S	F	# 201B	Female 10-10 200 IM	CWSL-LD	6		-1.16
36.57S	F	# 203B	Female 10-10 50 Free	CWSL-LD	8		-0.08
1:41.92S	F	# 205B	Female 10-10 100 Breast	CWSL-LD	3		-2.12
2:56.43\$	F	# 302B	Female 10-10 200 Free	CWSL-LD	6		1.61
45.69S	F	# 304B	Female 10-10 50 Breast	CWSL-LD	3		-1.23
3:12.36S	F	# 306B	Female 10-10 200 Back	CWSL-LD	2		-9.44
1:43.82S	F	# 308B	Female 10-10 100 Fly	CWSL-LD	5		-24.67
6:08.03S	F	# 402A	Female 10-10 400 Free	CWSL-LD	4		
42.36S	F	# 404B	Female 10-10 50 Back	CWSL-LD	5		-0.44
1:31.47S	F	# 406B	Female 10-10 100 IM	CWSL-LD	5		-6.09
1:22.03S	F	# 408B	Female 10-10 100 Free	CWSL-LD	4		-1.10
Sara Laaouiti (	9) F						
4:22.88S	-	# 107A	Female 8-9 200 Breast	CWSL-LD	1		
46.07S	F	# 203A	Female 8-9 50 Free	CWSL-LD	16		-12.82
56.11S	F	# 304A	Female 8-9 50 Breast	CWSL-LD	10		-11.48
Emily Laing (10	0) F						
51.898	-	# 404B	Female 10-10 50 Back	CWSL-LD	17		
1:42.73S	F	# 408B	Female 10-10 100 Free	CWSL-LD	14		
Jade Lasky (8)	М						
59.858		# 204A	Male 8-9 50 Back	CWSL-LD	23		-1.40
2:22.24S		# 206A	Male 8-9 100 IM	CWSL-LD	13		
53.18S		# 403A	Male 8-9 50 Free	CWSL-LD	23		-7.03
2:34.43\$		# 405A	Male 8-9 100 Breast	CWSL-LD	7		
Neezar Lasky (	12) M						
5:53.78S	-	# 202C	Male 12-12 400 Free	CWSL-LD	3		-33.67
40.49S		# 204D	Male 12-12 50 Back	CWSL-LD	6		-2.34
3:11.24\$		# 401D	Male 12-12 200 IM	CWSL-LD	4		-13.62
34.27S		# 403D	Male 12-12 50 Free	CWSL-LD	4		0.48
	-			- 4	-		****

Time	F/P	/S	5	Event		Place	Points	Improv
Victor Lastra	a (10) M							
57.17S		F	# 104B	Male 10-10 50 Breast	CWSL-LD	15		
46.65S		F	# 204B	Male 10-10 50 Back	CWSL-LD	9		
1:49.78S		F	# 206B	Male 10-10 100 IM	CWSL-LD	13		
1:41.85S		F	# 208B	Male 10-10 100 Free	CWSL-LD	15		
57.64S		F	# 303B	Male 10-10 50 Fly	CWSL-LD	11		
1:47.198		F	# 305B	Male 10-10 100 Back	CWSL-LD	7		
45.41S		F	# 403B	Male 10-10 50 Free	CWSL-LD	16		
Louis Littler	nore (8) M							
51.73S		F	# 104A	Male 8-9 50 Breast	CWSL-LD	4		-3.45
55.718		F	# 204A	Male 8-9 50 Back	CWSL-LD	20		2.13
51.98S		F	# 403A	Male 8-9 50 Free	CWSL-LD	21		2.65
1:58.38S		F	# 405A	Male 8-9 100 Breast	CWSL-LD	4		
Matilda Littl	lemore (13	) F	7					
5:42.118			# 101D	Female 13-13 400 IM	CWSL-LD	1		0.24
33.14S		F	# 103E	Female 13-13 50 Fly	CWSL-LD	1		0.17
2:40.96\$		F	# 201E	Female 13-13 200 IM	CWSL-LD	2		-1.98
2:42.95\$		F	# 207E	Female 13-13 200 Fly	CWSL-LD	1		-4.09
2:24.25\$	DQ	F	# 302E	Female 13-13 200 Free	CWSL-LD			
1:12.918		F	# 308E	Female 13-13 100 Fly	CWSL-LD	1		-2.44
4:59.22S		F	# 402D	Female 13-13 400 Free	CWSL-LD	2		-8.46
1:08.77\$		F	# 408E	Female 13-13 100 Free	CWSL-LD	1		0.59
Flora Lopez	(8) F							
NS		F	# 205A	Female 8-9 100 Breast	CWSL-LD			
1:10.36S		F	# 304A	Female 8-9 50 Breast	CWSL-LD	22		-4.53
Lucas Lopez	(11) M							
NS		F	# 102C	Male 11-11 200 Free	CWSL-LD			
NS		F	# 104C	Male 11-11 50 Breast	CWSL-LD			
3:53.13\$	DO	F	# 307C	Male 11-11 200 Breast	CWSL-LD			
41.65S		F	# 403C	Male 11-11 50 Free	CWSL-LD	6		
1:53.258		F	# 405C	Male 11-11 100 Breast	CWSL-LD	3		
Maxwell Lui	(10) M							
2:57.29S	` ,	F	# 102B	Male 10-10 200 Free	CWSL-LD	2		-9.06
49.02S		F	# 104B	Male 10-10 50 Breast	CWSL-LD	3		-4.21
3:23.85\$		F	# 106B	Male 10-10 200 Back	CWSL-LD	2		5.22
1:43.77\$		F	# 108B	Male 10-10 100 Fly	CWSL-LD	2		
6:34.66S		F	# 202A	Male 10-10 400 Free	CWSL-LD	1		
44.00S		F	# 204B	Male 10-10 50 Back	CWSL-LD	3		-1.81
1:22.80\$		F	# 208B	Male 10-10 100 Free	CWSL-LD	3		-0.93
7:02.74S		F	# 301A	Male 10-10 400 IM	CWSL-LD	1		
45.32S		F	# 303B	Male 10-10 50 Fly	CWSL-LD	6		1.00
1:39.90S		F	# 305B	Male 10-10 100 Back	CWSL-LD	4		3.67
3:49.69S		F	# 307B	Male 10-10 200 Breast	CWSL-LD	4		-23.75
3:24.06S		F	# 401B	Male 10-10 200 IM	CWSL-LD	3		-0.35
38.98\$		F	# 403B	Male 10-10 50 Free	CWSL-LD	6		1.35
1:51.03S			# 405B	Male 10-10 100 Breast	CWSL-LD	4		2.74
01.030		-			002.22	•		<b></b> -

Time	F/P/S	Event		Place	Points	Improv
Joseph Lyon (1	1) M					
2:36.25S	F #102C	Male 11-11 200 Free	CWSL-LD	1		-16.04
46.72S	F #104C	Male 11-11 50 Breast	CWSL-LD	2		-1.43
2:51.31S	F # 106C	Male 11-11 200 Back	CWSL-LD	1		-14.83
5:51.46S	F # 202B	Male 11-11 400 Free	CWSL-LD	1		
37.08S	F # 204C	Male 11-11 50 Back	CWSL-LD	1		0.51
1:25.40S	F # 206C	Male 11-11 100 IM	CWSL-LD	2		-2.73
1:14.35S	F # 208C	Male 11-11 100 Free	CWSL-LD	1		-5.57
36.57S	F #303C	Male 11-11 50 Fly	CWSL-LD	2		-3.24
1:21.78S	F #305C	Male 11-11 100 Back	CWSL-LD	1		1.25
33.38S	F # 403C	Male 11-11 50 Free	CWSL-LD	1		-1.97
1:39.52S	F # 405C	Male 11-11 100 Breast	CWSL-LD	2		
Elsa Mackintos	h (10) F					
40.88S	F # 203B	Female 10-10 50 Free	CWSL-LD	15		
2:05.05S DO	Q F # 205B	Female 10-10 100 Breast	CWSL-LD			
50.25S	F # 404B	Female 10-10 50 Back	CWSL-LD	14		
1:42.198	F # 406B	Female 10-10 100 IM	CWSL-LD	12		
1:35.54\$	F #408B	Female 10-10 100 Free	CWSL-LD	13		
Gustav Mackint	tosh (12) M					
45.49S	F # 204D	Male 12-12 50 Back	CWSL-LD	10		
1:39.84S DO	Q F # 206D	Male 12-12 100 IM	CWSL-LD			
1:28.91S	F # 208D	Male 12-12 100 Free	CWSL-LD	9		
36.90S	F # 403D	Male 12-12 50 Free	CWSL-LD	9		
1:46.97S	F #405D	Male 12-12 100 Breast	CWSL-LD	5		
Rohit Malik (9)	) M					
54.40S	F # 104A	Male 8-9 50 Breast	CWSL-LD	7		
46.53S	F # 204A	Male 8-9 50 Back	CWSL-LD	5		
1:43.52S DO	Q F # 206A	Male 8-9 100 IM	CWSL-LD			
1:36.49S	F # 208A	Male 8-9 100 Free	CWSL-LD	6		
47.67S DO	Q F # 303A	Male 8-9 50 Fly	CWSL-LD			
39.95S	F # 403A	Male 8-9 50 Free	CWSL-LD	4		
2:06.33S	F #405A	Male 8-9 100 Breast	CWSL-LD	5		
Isaias Marenza	na (10) M					
NS	F #102B	Male 10-10 200 Free	CWSL-LD			
NS	F #108B	Male 10-10 100 Fly	CWSL-LD			
58.13S	F #303B	Male 10-10 50 Fly	CWSL-LD	12		-7.22
1:47.45S	F #305B	Male 10-10 100 Back	CWSL-LD	8		
Amelia Martin	(9) F					
57.93S	F #103A	Female 8-9 50 Fly	CWSL-LD	10		-12.04
2:10.18S	F #105A	Female 8-9 100 Back	CWSL-LD	9		
45.68S	F # 203A	Female 8-9 50 Free	CWSL-LD	15		0.96
2:07.91S	F # 205A	Female 8-9 100 Breast	CWSL-LD	7		
4:00.87\$	F #302A	Female 8-9 200 Free	CWSL-LD	6		
57.63\$	F #304A	Female 8-9 50 Breast	CWSL-LD	12		-7.40
57.86S	F #404A	Female 8-9 50 Back	CWSL-LD	23		-1.11
1:57.85\$	F #406A	Female 8-9 100 IM	CWSL-LD	15		
1:44.75S	F #408A	Female 8-9 100 Free	CWSL-LD	17		
			-			

Time	F/P/S	5	Event		Place	Points	Improv
Goncalo Martin	s (10) M						
1:00.45S DQ	F	# 104B	Male 10-10 50 Breast	CWSL-LD			
49.63S	F	# 204B	Male 10-10 50 Back	CWSL-LD	14		
1:51.25S DQ	F	# 206B	Male 10-10 100 IM	CWSL-LD			
1:42.74\$	F	# 208B	Male 10-10 100 Free	CWSL-LD	16		-7.36
Carlo Masoni (1	12) M						
3:40.39S DQ	F	# 106D	Male 12-12 200 Back	CWSL-LD			
Olivia Massey (	9) F						
46.74S	F	# 203A	Female 8-9 50 Free	CWSL-LD	17		
2:04.36S DQ	F	# 205A	Female 8-9 100 Breast	CWSL-LD			
58.15S	F	# 304A	Female 8-9 50 Breast	CWSL-LD	13		
53.08S	F	# 404A	Female 8-9 50 Back	CWSL-LD	14		
1:51.91S	F	# 408A	Female 8-9 100 Free	CWSL-LD	19		
Kurt Mazi (11)	M						
48.11S	F	# 303C	Male 11-11 50 Fly	CWSL-LD	5		
1:40.76S	F	# 305C	Male 11-11 100 Back	CWSL-LD	4		
37.56S	F	# 403C	Male 11-11 50 Free	CWSL-LD	3		
1:58.31S	F	# 405C	Male 11-11 100 Breast	CWSL-LD	4		
Aran Mehra (10	)) M						
3:21.81S	F	# 102B	Male 10-10 200 Free	CWSL-LD	8		
47.13S	F	# 204B	Male 10-10 50 Back	CWSL-LD	10		-2.71
1:44.52S DQ	F	# 206B	Male 10-10 100 IM	CWSL-LD			
1:35.148	F	# 208B	Male 10-10 100 Free	CWSL-LD	9		-12.65
43.42S	F	# 403B	Male 10-10 50 Free	CWSL-LD	15		-2.63
Polina Milekhin	a (10) F						
51.88S	F	# 103B	Female 10-10 50 Fly	CWSL-LD	8		
1:51.28S	F	# 105B	Female 10-10 100 Back	CWSL-LD	11		-27.83
44.46S	F	# 203B	Female 10-10 50 Free	CWSL-LD	17		-9.53
56.41S	F	# 304B	Female 10-10 50 Breast	CWSL-LD	16		-12.20
51.00S	F	# 404B	Female 10-10 50 Back	CWSL-LD	16		-15.56
1:51.64S	F	# 406B	Female 10-10 100 IM	CWSL-LD	15		-23.20
Lorenzo Minerv	a (9) M						
53.79S		# 204A	Male 8-9 50 Back	CWSL-LD	16		2.42
1:59.50S DQ	F	# 206A	Male 8-9 100 IM	CWSL-LD			
1:44.91S	F	# 208A	Male 8-9 100 Free	CWSL-LD	11		
42.66S	F	# 403A	Male 8-9 50 Free	CWSL-LD	13		-5.70
2:05.72S DQ	F	# 405A	Male 8-9 100 Breast	CWSL-LD			
Juan Miranda (	14) M						
34.72S	F	# 104F	Male 14 & Over 50 Breast	CWSL-LD	3		-1.39
2:28.53S	F	# 106F	Male 14 & Over 200 Back	CWSL-LD	3		0.09
32.10S	F	# 204F	Male 14 & Over 50 Back	CWSL-LD	4		-0.53
1:00.28S	F	# 208F	Male 14 & Over 100 Free	CWSL-LD	5		-1.43
31.14S	F	# 303F	Male 14 & Over 50 Fly	CWSL-LD	5		-1.30
1:08.17\$	F	# 305F	Male 14 & Over 100 Back	CWSL-LD	4		-3.00
2:51.30S	F	# 307F	Male 14 & Over 200 Breast	CWSL-LD	1		-11.92
28.03S	F	# 403F	Male 14 & Over 50 Free	CWSL-LD	4		0.07
1:18.798	F	# 405F	Male 14 & Over 100 Breast	CWSL-LD	3		-7.72
2:45.13S	F	# 407F	Male 14 & Over 200 Fly	CWSL-LD	3		

Time	F/P/S	5	Event		Place	Points	Improv
Elizabeth Mous	stakas (10)	) F					
45.80S	F	# 404B	Female 10-10 50 Back	CWSL-LD	10		-4.02
1:38.138	F	# 406B	Female 10-10 100 IM	CWSL-LD	11		-3.74
1:31.77S	F	# 408B	Female 10-10 100 Free	CWSL-LD	12		
Deniz Mucen (	9) M						
55.08S	F	# 104A	Male 8-9 50 Breast	CWSL-LD	8		-5.17
49.24S	F	# 204A	Male 8-9 50 Back	CWSL-LD	11		-0.52
1:48.15S	F	# 206A	Male 8-9 100 IM	CWSL-LD	8		-2.94
1:34.44S	F	# 208A	Male 8-9 100 Free	CWSL-LD	4		-4.53
47.72S	F	# 303A	Male 8-9 50 Fly	CWSL-LD	6		-8.95
1:39.14S	F	# 305A	Male 8-9 100 Back	CWSL-LD	3		-5.50
3:43.64S	F	# 401A	Male 8-9 200 IM	CWSL-LD	4		
42.35S	F	# 403A	Male 8-9 50 Free	CWSL-LD	12		-0.48
Selin Mucen (1	2) F						
32.77S	. <b>2</b> , F	# 103D	Female 12-12 50 Fly	CWSL-LD	3		-0.61
1:17.42S	F	# 105D	Female 12-12 100 Back	CWSL-LD	2		-2.41
3:24.49S	F	# 103D	Female 12-12 200 Breast	CWSL-LD	2		
2:45.84S	F	# 201D	Female 12-12 200 IM	CWSL-LD	3		-3.29
30.818	F	# 203D	Female 12-12 50 Free	CWSL-LD	3		0.20
1:36.90\$	F	# 205D	Female 12-12 100 Breast	CWSL-LD	3		-6.56
2:27.92S	F	# 302D	Female 12-12 200 Free	CWSL-LD	2		-3.93
43.62S	F	# 304D	Female 12-12 50 Breast	CWSL-LD	4		0.36
1:15.40S	F	# 304D	Female 12-12 100 Fly	CWSL-LD	3		-1.48
35.22S	F	# 404D	Female 12-12 50 Back	CWSL-LD	1		0.01
1:19.07S	F	# 404D	Female 12-12 100 IM	CWSL-LD	2		-3.45
1:08.13S	F	# 400D # 408D	Female 12-12 100 fm	CWSL-LD	3		0.57
	_	# 4000	remale 12-12 100 Free	CW3L-LD	3		0.57
Reilly Murphy					_		
3:06.72S	F	# 302B	Female 10-10 200 Free	CWSL-LD	9		-10.88
51.908	F	# 304B	Female 10-10 50 Breast	CWSL-LD	8		0.14
DQ	F	# 306B	Female 10-10 200 Back	CWSL-LD			
1:52.92S	F	# 308B	Female 10-10 100 Fly	CWSL-LD	7		-7.01
44.21S	F	# 404B	Female 10-10 50 Back	CWSL-LD	9		-3.76
1:36.07\$	F	# 406B	Female 10-10 100 IM	CWSL-LD	8		-17.96
1:25.848	F	# 408B	Female 10-10 100 Free	CWSL-LD	6		7.63
Zoe Musial (15	5) F						
29.58S	F	# 103F	Female 14 & Over 50 Fly	CWSL-LD	1		
1:07.72S	F	# 105F	Female 14 & Over 100 Back	CWSL-LD	1		
2:50.58\$	F	# 107F	Female 14 & Over 200 Breast	CWSL-LD	1		
27.23S	F	# 203F	Female 14 & Over 50 Free	CWSL-LD	1		
1:15.03S	F	# 205F	Female 14 & Over 100 Breast	CWSL-LD	1		
2:11.97S	F	# 302F	Female 14 & Over 200 Free	CWSL-LD	1		
35.32S	F	# 304F	Female 14 & Over 50 Breast	CWSL-LD	1		
2:29.05S	F	# 306F	Female 14 & Over 200 Back	CWSL-LD	1		
30.96S	F	# 404F	Female 14 & Over 50 Back	CWSL-LD	1		
1:07.23S	F	# 406F	Female 14 & Over 100 IM	CWSL-LD	1		
58.70S	F	# 408F	Female 14 & Over 100 Free	CWSL-LD	1		

1:33.31S	Time	F/P/S	5	Event		Place	Points	Improv
41.68S	Alexia Naydeno	v (10) F						
1:33.31S	6:44.93S DC	Q F	# 101A	Female 10-10 400 IM	CWSL-LD			
3:30.57S	41.68S	F	# 103B	Female 10-10 50 Fly	CWSL-LD	4		-1.33
3:12.89\$	1:33.318	F	# 105B	Female 10-10 100 Back	CWSL-LD	8		-1.27
36.34S         F         # 203B         Female 10-10 50 Free         CWSL-LD         7	3:30.57\$	F	# 107B	Female 10-10 200 Breast	CWSL-LD	2		-15.41
1:43.38S         F         # 2028         Female 10-10 100 Breast         CWSL-LD         5	3:12.89\$	F	# 201B	Female 10-10 200 IM	CWSL-LD	4		-6.11
2:46.48S	36.34S	F	# 203B	Female 10-10 50 Free	CWSL-LD	7		-1.09
45.60S	1:43.38\$	F	# 205B	Female 10-10 100 Breast	CWSL-LD	5		-2.69
NS F #306B Female 10-10 200 Back CWSL-LD	2:46.48S	F	# 302B	Female 10-10 200 Free	CWSL-LD	4		-19.70
1:39.17S	45.60S	F	# 304B	Female 10-10 50 Breast	CWSL-LD	2		-0.93
5:51.79S         F         # 402A         Female 10-10 400 Free         CWSL-LD         3          8-8.2           NS         F         # 404B         Female 10-10 50 Back         CWSL-LD              1:31.97S         F         # 406B         Female 10-10 100 IM         CWSL-LD         6          0.8           1:22.19S         F         # 408B         Female 10-10 100 Free         CWSL-LD         5          -8.4           Saskia Nicholls (11) F           3:14.58S         F         # 304C         Female 11-11 200 Free         CWSL-LD         5          0.4           51.52S         F         # 304C         Female 11-11 200 Breast         CWSL-LD         4          -5.9           3:32.37S         F         # 306C         Female 11-11 200 Breast         CWSL-LD         3          0.4           4.5.68S         F         # 402E         Female 11-11 50 Back         CWSL-LD         3          0.2           Zara North         8         Female 11-11 50 Back         CWSL-LD         24          -5.2           1:0.50S DQ         F	NS	F	# 306B	Female 10-10 200 Back	CWSL-LD			
NS F #404B Female 10-10 50 Back CWSL-LD	1:39.17S	F	# 308B	Female 10-10 100 Fly	CWSL-LD	4		
1:31.97S	5:51.798	F	# 402A	Female 10-10 400 Free	CWSL-LD	3		-8.27
1:22.19S         F         # 408B         Female 10-10 100 Free         CWSL-LD         5          -8.4           Saskia Nicholls (11) F           3:14.58S         F         # 302C         Female 11-11 200 Free         CWSL-LD         5          0.4           51.52S         F         # 304C         Female 11-11 200 Back         CWSL-LD         4          -5.9           3:32.37S         F         # 304C         Female 11-11 400 Free         CWSL-LD         3          -9.4           45.68S         F         # 404C         Female 11-11 50 Back         CWSL-LD         3          -9.4           45.68S         F         # 404C         Female 11-11 50 Back         CWSL-LD         5          -0.2           Zara North (8) F           49.60S         F         # 203A         Female 8-9 50 Free         CWSL-LD         24          -5.2           1:10.50S         DQ         F         # 304A         Female 8-9 50 Breast         CWSL-LD              Frank Ogden (10) M         3         F         # 104B         Male 10-10 200 Free         CWSL-LD </td <td>NS</td> <td>F</td> <td># 404B</td> <td>Female 10-10 50 Back</td> <td>CWSL-LD</td> <td></td> <td></td> <td></td>	NS	F	# 404B	Female 10-10 50 Back	CWSL-LD			
Saskia Nicholls (11) F           3:14.58S         F         # 302C         Female 11-11 200 Free         CWSL-LD         5          0.4           51.52S         F         # 304C         Female 11-11 200 Back         CWSL-LD         4          2.59           3:32.37S         F         # 306C         Female 11-11 400 Free         CWSL-LD         3          -9.4           45.68S         F         # 404C         Female 11-11 50 Back         CWSL-LD         5          -0.2           Zara North (8) F           49.60S         F         # 203A         Female 8-9 50 Free         CWSL-LD         24          -5.2           1:10.50S         DQ         F         # 304A         Female 8-9 50 Breast         CWSL-LD              Frank Ogden (10) M           3:02.19S         F         # 102B         Male 10-10 200 Free         CWSL-LD         3          -7.5           40.80S         F         # 104B         Male 10-10 50 Breast         CWSL-LD         3          -7.5           40.80S         F         # 104B         Male 10-10 200 Back <td< td=""><td>1:31.97S</td><td>F</td><td># 406B</td><td>Female 10-10 100 IM</td><td>CWSL-LD</td><td>6</td><td></td><td>0.86</td></td<>	1:31.97S	F	# 406B	Female 10-10 100 IM	CWSL-LD	6		0.86
3:14.58S	1:22.198	F	# 408B	Female 10-10 100 Free	CWSL-LD	5		-8.40
3:14.58S	Saskia Nicholls	(11) F						
51.52S         F         # 304C         Female 11-11 50 Breast         CWSL-LD         4          2-5.9           3:32.37S         F         # 306C         Female 11-11 200 Back         CWSL-LD         4          2.3           6:39.25S         F         # 402B         Female 11-11 400 Free         CWSL-LD         3          -9.4           45.68S         F         # 404C         Female 11-11 50 Back         CWSL-LD         5          -0.2           Zara North (8) F           49.60S         F         # 203A         Female 8-9 50 Free         CWSL-LD         24          -5.2           1:10.50S         DQ         F         # 304A         Female 8-9 50 Breast         CWSL-LD              Frank Ogden (10) M           3:20.19S         F         # 102B         Male 10-10 200 Free         CWSL-LD         3          -7.5           40.80S         F         # 104B         Male 10-10 50 Breast         CWSL-LD         1             X3:54.91S         DQ         F         # 108B         Male 10-10 100 Fly         CWSL-LD         3			# 302C	Female 11-11 200 Free	CWSL-LD	5		0.44
6:39.25S F # 402B Female 11-11 400 Free CWSL-LD 39.4 45.68S F # 404C Female 11-11 50 Back CWSL-LD 50.2  Zara North (8) F  49.60S F # 203A Female 8-9 50 Free CWSL-LD 24	51.52S	F	# 304C	Female 11-11 50 Breast	CWSL-LD			-5.97
45.68S         F         # 404C         Female 11-11 50 Back         CWSL-LD         5          -0.2           Zara North (8) F           49.60S         F         # 203A         Female 8-9 50 Free         CWSL-LD         24          -5.2           1:10.50S         DQ         F         # 304A         Female 8-9 50 Breast         CWSL-LD              Frank Ogden (10) M           3:02.19S         F         # 102B         Male 10-10 200 Free         CWSL-LD         3          -7.5           40.80S         F         # 104B         Male 10-10 50 Breast         CWSL-LD         1          -1.6           X 3:54.91S         DQ         F         # 106B         Male 10-10 200 Back         CWSL-LD              1:43.96S         F         # 108B         Male 10-10 100 Fly         CWSL-LD         3          -14.0           NS         F         # 202A         Male 10-10 400 Free         CWSL-LD         7             45.32S         F         # 204B         Male 10-10 100 IM         CWSL-LD         7		F	# 306C	Female 11-11 200 Back		4		2.38
45.68S         F         # 404C         Female 11-11 50 Back         CWSL-LD         5          -0.2           Zara North (8) F           49.60S         F         # 203A         Female 8-9 50 Free         CWSL-LD         24          -5.2           1:10.50S         DQ         F         # 304A         Female 8-9 50 Breast         CWSL-LD              Frank Ogden (10) M           3:02.19S         F         # 102B         Male 10-10 200 Free         CWSL-LD         3          -7.5           40.80S         F         # 104B         Male 10-10 50 Breast         CWSL-LD         1          -1.6           X 3:54.91S         DQ         F         # 106B         Male 10-10 200 Back         CWSL-LD              1:43.96S         F         # 108B         Male 10-10 100 Fly         CWSL-LD         3          -14.0           NS         F         # 202A         Male 10-10 400 Free         CWSL-LD         7             45.32S         F         # 204B         Male 10-10 100 IM         CWSL-LD         7	6:39.25S	F	# 402B	Female 11-11 400 Free	CWSL-LD	3		-9.48
49.60S       F       # 203A       Female 8-9 50 Free       CWSL-LD       24        -5.2         1:10.50S       DQ       F       # 304A       Female 8-9 50 Breast       CWSL-LD            Frank Ogden (10) M         3:02.19S       F       # 102B       Male 10-10 200 Free       CWSL-LD       3        -7.5         40.80S       F       # 104B       Male 10-10 50 Breast       CWSL-LD       1        -1.6         X 3:54.91S       DQ       F       # 106B       Male 10-10 200 Back       CWSL-LD            1:43.96S       F       # 108B       Male 10-10 100 Fly       CWSL-LD       3        -14.0         NS       F       # 202A       Male 10-10 400 Free       CWSL-LD            45.32S       F       # 204B       Male 10-10 50 Back       CWSL-LD       7        0.4         1:31.18S       F       # 206B       Male 10-10 100 Free       CWSL-LD       2           7:08.50S       F       # 301A       Male 10-10 400 IM       CWSL-LD       2		F	# 404C	Female 11-11 50 Back		5		-0.28
49.60S       F       # 203A       Female 8-9 50 Free       CWSL-LD       24        -5.2         1:10.50S       DQ       F       # 304A       Female 8-9 50 Breast       CWSL-LD            Frank Ogden (10) M         3:02.19S       F       # 102B       Male 10-10 200 Free       CWSL-LD       3        -7.5         40.80S       F       # 104B       Male 10-10 50 Breast       CWSL-LD       1        -1.6         X 3:54.91S       DQ       F       # 106B       Male 10-10 200 Back       CWSL-LD            1:43.96S       F       # 108B       Male 10-10 100 Fly       CWSL-LD       3        -14.0         NS       F       # 202A       Male 10-10 400 Free       CWSL-LD            45.32S       F       # 204B       Male 10-10 50 Back       CWSL-LD       7        0.4         1:31.18S       F       # 206B       Male 10-10 100 Free       CWSL-LD       2           7:08.50S       F       # 301A       Male 10-10 400 IM       CWSL-LD       2	Zara North (9)	E						
1:10.50S       DQ       F       # 304A       Female 8-9 50 Breast       CWSL-LD			# 203A	Female 8-9 50 Free	CWSL-LD	24		-5.26
Frank Ogden (10) M         3:02.19S       F # 102B       Male 10-10 200 Free       CWSL-LD       3        -7.5         40.80S       F # 104B       Male 10-10 50 Breast       CWSL-LD       1        -1.6         X 3:54.91S       DQ       F # 106B       Male 10-10 200 Back       CWSL-LD            1:43.96S       F # 108B       Male 10-10 100 Fly       CWSL-LD       3        -14.0         NS       F # 202A       Male 10-10 400 Free       CWSL-LD            45.32S       F # 204B       Male 10-10 50 Back       CWSL-LD       7        0.4         1:31.18S       F # 206B       Male 10-10 100 IM       CWSL-LD       2        -1.5         1:18.29S       F # 208B       Male 10-10 100 Free       CWSL-LD       2        -4.1         7:08.50S       F # 301A       Male 10-10 400 IM       CWSL-LD       2           42.67S       F # 303B       Male 10-10 50 Fly       CWSL-LD       3        1.0								
3:02.19S       F # 102B       Male 10-10 200 Free       CWSL-LD       3        -7.5         40.80S       F # 104B       Male 10-10 50 Breast       CWSL-LD       1        -1.6         X 3:54.91S       DQ       F # 106B       Male 10-10 200 Back       CWSL-LD            1:43.96S       F # 108B       Male 10-10 100 Fly       CWSL-LD       3        -14.0         NS       F # 202A       Male 10-10 400 Free       CWSL-LD            45.32S       F # 204B       Male 10-10 50 Back       CWSL-LD       7        0.4         1:31.18S       F # 206B       Male 10-10 100 IM       CWSL-LD       2           1:18.29S       F # 208B       Male 10-10 100 Free       CWSL-LD       2           7:08.50S       F # 301A       Male 10-10 400 IM       CWSL-LD       2           42.67S       F # 303B       Male 10-10 50 Fly       CWSL-LD       3        1.0		-	# 30 H	remaie o 7 30 Breast	GW3E ED			
40.80S       F #104B       Male 10-10 50 Breast       CWSL-LD       1        -1.6         X 3:54.91S       DQ       F #106B       Male 10-10 200 Back       CWSL-LD             1:43.96S       F #108B       Male 10-10 100 Fly       CWSL-LD       3        -14.0         NS       F #202A       Male 10-10 400 Free       CWSL-LD            45.32S       F #204B       Male 10-10 50 Back       CWSL-LD       7        0.4         1:31.18S       F #206B       Male 10-10 100 IM       CWSL-LD       2        -1.5         1:18.29S       F #208B       Male 10-10 100 Free       CWSL-LD       2           7:08.50S       F #301A       Male 10-10 400 IM       CWSL-LD       2           42.67S       F #303B       Male 10-10 50 Fly       CWSL-LD       3        1.0		-	# 102D	M-l- 10 10 200 F	CAICL LD	2		7.50
X 3:54.91S DQ F # 106B Male 10-10 200 Back CWSL-LD 1:43.96S F # 108B Male 10-10 100 Fly CWSL-LD 3 NS F # 202A Male 10-10 400 Free CWSL-LD 45.32S F # 204B Male 10-10 50 Back CWSL-LD 7 0.4 1:31.18S F # 206B Male 10-10 100 IM CWSL-LD 2 1:18.29S F # 208B Male 10-10 100 Free CWSL-LD 2 7:08.50S F # 301A Male 10-10 400 IM CWSL-LD 2 42.67S F # 303B Male 10-10 50 Fly CWSL-LD 3 1.0								
1:43.96S       F # 108B       Male 10-10 100 Fly       CWSL-LD       3        -14.0         NS       F # 202A       Male 10-10 400 Free       CWSL-LD            45.32S       F # 204B       Male 10-10 50 Back       CWSL-LD       7        0.4         1:31.18S       F # 206B       Male 10-10 100 IM       CWSL-LD       2        -1.5         1:18.29S       F # 208B       Male 10-10 100 Free       CWSL-LD       2         -4.1         7:08.50S       F # 301A       Male 10-10 400 IM       CWSL-LD       2            42.67S       F # 303B       Male 10-10 50 Fly       CWSL-LD       3        1.0								
NS F # 202A Male 10-10 400 Free CWSL-LD 45.32S F # 204B Male 10-10 50 Back CWSL-LD 7 0.4  1:31.18S F # 206B Male 10-10 100 IM CWSL-LD 2 1.5  1:18.29S F # 208B Male 10-10 100 Free CWSL-LD 2  7:08.50S F # 301A Male 10-10 400 IM CWSL-LD 2 1.5  42.67S F # 303B Male 10-10 50 Fly CWSL-LD 3 1.0	`	•						
45.32S       F # 204B       Male 10-10 50 Back       CWSL-LD       7        0.4         1:31.18S       F # 206B       Male 10-10 100 IM       CWSL-LD       2        -1.5         1:18.29S       F # 208B       Male 10-10 100 Free       CWSL-LD       2        -4.1         7:08.50S       F # 301A       Male 10-10 400 IM       CWSL-LD       2           42.67S       F # 303B       Male 10-10 50 Fly       CWSL-LD       3        1.0				•				
1:31.18S       F # 206B       Male 10-10 100 IM       CWSL-LD       2        -1.5         1:18.29S       F # 208B       Male 10-10 100 Free       CWSL-LD       2        -4.1         7:08.50S       F # 301A       Male 10-10 400 IM       CWSL-LD       2           42.67S       F # 303B       Male 10-10 50 Fly       CWSL-LD       3        1.0								
1:18.29S       F # 208B       Male 10-10 100 Free       CWSL-LD       2        -4.1         7:08.50S       F # 301A       Male 10-10 400 IM       CWSL-LD       2            42.67S       F # 303B       Male 10-10 50 Fly       CWSL-LD       3        1.0								
7:08.50S F # 301A Male 10-10 400 IM CWSL-LD 2 42.67S F # 303B Male 10-10 50 Fly CWSL-LD 3 1.0								
42.67S F # 303B Male 10-10 50 Fly CWSL-LD 3 1.0								
1.44 COC E # 20fD Mole 10 10 10 100 Pools CMCLLD F	1:44.68S		# 305B	ř				
								1.00
								-1.00 -1.36
								-0.26
			# 4050	Maie 10-10 100 breast	CM2F-FD	1		-2.18
Caitlyn O'Keefe (8) F				_ , ,				
				•				-3.58
								-6.58
								-3.74
								-5.98
2:00.21S F # 406A Female 8-9 100 IM CWSL-LD 17	2:00.215	F	# 406A	remale 8-9 100 lM	CWSL-LD	17		

Time	F/P/S		Event		Place	Points	Improv
Kieran O'Keefe (	(10) M						
53.18S	F #	# 104B	Male 10-10 50 Breast	CWSL-LD	9		-10.23
47.83S	F #	# 204B	Male 10-10 50 Back	CWSL-LD	11		-3.74
1:44.65S	F #	# 206B	Male 10-10 100 IM	CWSL-LD	8		
1:32.06S	F #	# 208B	Male 10-10 100 Free	CWSL-LD	7		-11.95
Amelie O'Neill (1	10) F						
36.71S	F #	# 103B	Female 10-10 50 Fly	CWSL-LD	1		-4.37
1:30.05S	F #	# 105B	Female 10-10 100 Back	CWSL-LD	5		-3.81
3:10.99S	F #	# 201B	Female 10-10 200 IM	CWSL-LD	3		2.18
35.60S	F #	# 203B	Female 10-10 50 Free	CWSL-LD	3		-0.43
1:42.97S	F #	# 205B	Female 10-10 100 Breast	CWSL-LD	4		
Alexia Osorio (1	4) F						
48.83S	-	# 103F	Female 14 & Over 50 Fly	CWSL-LD	7		
37.88S	F #	# 203F	Female 14 & Over 50 Free	CWSL-LD	7		
1:58.05S DQ	F #	# 205F	Female 14 & Over 100 Breast	CWSL-LD			
52.58S	F #	# 304F	Female 14 & Over 50 Breast	CWSL-LD	6		
Keira Osorio (10	)) F						
1:29.96\$	-	# 105B	Female 10-10 100 Back	CWSL-LD	4		-4.89
3:39.42\$		# 107B	Female 10-10 200 Breast	CWSL-LD	4		-10.60
3:14.19S		# 201B	Female 10-10 200 IM	CWSL-LD	5		
37.598		# 203B	Female 10-10 50 Free	CWSL-LD	11		1.34
1:47.29S		# 205B	Female 10-10 100 Breast	CWSL-LD	6		-0.04
2:55.998		# 302B	Female 10-10 200 Free	CWSL-LD	5		-32.09
46.718		# 304B	Female 10-10 50 Breast	CWSL-LD	4		-4.18
1:31.86\$		# 308B	Female 10-10 100 Fly	CWSL-LD	2		-8.30
				0	_		
Lina Ouladzahra 3:35.42S		# 302B	Female 10-10 200 Free	CWSL-LD	11		
55.58S		# 304B	Female 10-10 50 Breast	CWSL-LD	15		
2:09.36S DQ		# 304B	Female 10-10 100 Fly	CWSL-LD			
·			remaie to to too try	GW3E ED			
Mohammed Oula	•	-	M-1- 0.050 El-	CMCLID			
59.55S DQ		# 303A	Male 8-9 50 Fly	CWSL-LD			
2:02.91S DQ		# 305A	Male 8-9 100 Back	CWSL-LD			
George Oyama (	-						
56.48S		# 104A	Male 8-9 50 Breast	CWSL-LD	10		-5.46
49.57S		# 204A	Male 8-9 50 Back	CWSL-LD	12		-5.20
1:47.96S		# 206A	Male 8-9 100 IM	CWSL-LD	7		-13.16
54.20S		# 303A	Male 8-9 50 Fly	CWSL-LD	12		-4.23
46.72S	F #	# 403A	Male 8-9 50 Free	CWSL-LD	15		-3.80
Euginia Pang (11	1) F						
48.43S	F #	# 304C	Female 11-11 50 Breast	CWSL-LD	3		
41.95S	F #	# 404C	Female 11-11 50 Back	CWSL-LD	1		
Natasha Pang (1	1) F						
34.78S	F #	# 203C	Female 11-11 50 Free	CWSL-LD	2		
1:19.10S	F #	# 408C	Female 11-11 100 Free	CWSL-LD	4		
Nicholas Pedraza	as (9) M						
4:35.63S DQ		# 307A	Male 8-9 200 Breast	CWSL-LD			
50.43S	F #	# 403A	Male 8-9 50 Free	CWSL-LD	19		
2:13.88S DQ		# 405A	Male 8-9 100 Breast	CWSL-LD			
·							

Time	F/P/S	Event		Place	Points	Improv
Isabel Perrett (	8) F					
48.73S	F # 103	A Female 8-9 50 Fly	CWSL-LD	5		-4.11
42.73S	F # 203	A Female 8-9 50 Free	CWSL-LD	8		-3.58
59.60S	F # 304	A Female 8-9 50 Breast	CWSL-LD	17		-1.58
48.54S	F # 404	A Female 8-9 50 Back	CWSL-LD	7		-0.82
1:47.43S	F # 406	A Female 8-9 100 IM	CWSL-LD	7		
1:36.958	F # 408	A Female 8-9 100 Free	CWSL-LD	8		
Catherine Perus	sset (10) F					
2:54.39\$	F # 2011	B Female 10-10 200 IM	CWSL-LD	2		-7.85
33.40S	F # 2031	B Female 10-10 50 Free	CWSL-LD	2		-1.60
1:29.83S	F # 2051	B Female 10-10 100 Breast	CWSL-LD	1		-1.74
2:35.08S	F # 3021	B Female 10-10 200 Free	CWSL-LD	2		-1.93
41.50S	F # 3041	B Female 10-10 50 Breast	CWSL-LD	1		-1.03
1:26.57S	F # 3081	B Female 10-10 100 Fly	CWSL-LD	1		-0.89
39.33S	F # 4041	B Female 10-10 50 Back	CWSL-LD	2		-2.30
1:21.04S	F # 4061	B Female 10-10 100 IM	CWSL-LD	2		-1.86
1:12.45S	F # 4081	B Female 10-10 100 Free	CWSL-LD	2		-1.83
Dominique Peru	usset (12) F					
2:55.55S	F # 2011	D Female 12-12 200 IM	CWSL-LD	4		-3.52
32.81S	F # 2031	D Female 12-12 50 Free	CWSL-LD	6		0.13
1:35.14S	F # 2051	D Female 12-12 100 Breast	CWSL-LD	2		3.09
2:42.94\$	F # 3021	D Female 12-12 200 Free	CWSL-LD	3		-11.12
44.28S	F # 3041	D Female 12-12 50 Breast	CWSL-LD	5		1.83
2:50.11S	F # 3061	D Female 12-12 200 Back	CWSL-LD	3		
1:27.81S	F # 3081	D Female 12-12 100 Fly	CWSL-LD	5		2.54
36.74S	F # 4041	D Female 12-12 50 Back	CWSL-LD	2		-0.88
1:21.13S	F # 4061	D Female 12-12 100 IM	CWSL-LD	3		-1.37
1:12.63\$	F # 4081	D Female 12-12 100 Free	CWSL-LD	5		-1.93
Alexa Peschkoff	(9) F					
43.16S	F # 203	A Female 8-9 50 Free	CWSL-LD	11		
2:01.88S	F # 205	A Female 8-9 100 Breast	CWSL-LD	4		
54.13S	F #304	A Female 8-9 50 Breast	CWSL-LD	7		
53.51S	F # 404	A Female 8-9 50 Back	CWSL-LD	16		
1:49.44S	F # 406	A Female 8-9 100 IM	CWSL-LD	9		
1:42.26S	F # 408	A Female 8-9 100 Free	CWSL-LD	12		
<b>Matthew Peters</b>	(13) M					
2:22.84S	F # 1021	E Male 13-13 200 Free	CWSL-LD	5		
40.40S	F # 104	E Male 13-13 50 Breast	CWSL-LD	5		
2:41.56S	F # 106	E Male 13-13 200 Back	CWSL-LD	6		
1:16.60S	F # 108	E Male 13-13 100 Fly	CWSL-LD	5		
5:02.06S	F # 2021	D Male 13-13 400 Free	CWSL-LD	3		
36.01S	F # 204	E Male 13-13 50 Back	CWSL-LD	8		
1:16.40S	F # 2061	E Male 13-13 100 IM	CWSL-LD	4		
1:04.57S	F # 2081	E Male 13-13 100 Free	CWSL-LD	5		

Time	F/P/S	5	Event		Place	Points	Improv
Jacob Phillip	s (13) M						
2:34.23\$		# 106E	Male 13-13 200 Back	CWSL-LD	4		
1:13.51S	F	# 108E	Male 13-13 100 Fly	CWSL-LD	4		
32.52S	F	# 204E	Male 13-13 50 Back	CWSL-LD	4		
1:04.15S	F	# 208E	Male 13-13 100 Free	CWSL-LD	4		
31.49\$	F	# 303E	Male 13-13 50 Fly	CWSL-LD	4		
1:12.83\$	F	# 305E	Male 13-13 100 Back	CWSL-LD	6		
2:35.89\$	F	# 401E	Male 13-13 200 IM	CWSL-LD	3		
Audrey Plen	ov (9) F						
54.75S		# 103A	Female 8-9 50 Fly	CWSL-LD	8		
1:50.498	F	# 105A	Female 8-9 100 Back	CWSL-LD	3		-4.79
44.11S	F	# 203A	Female 8-9 50 Free	CWSL-LD	12		-0.73
2:07.28S	F	# 205A	Female 8-9 100 Breast	CWSL-LD	6		
3:34.84\$	F	# 302A	Female 8-9 200 Free	CWSL-LD	5		
58.93S		# 304A	Female 8-9 50 Breast	CWSL-LD			
50.22S	F	# 404A	Female 8-9 50 Back	CWSL-LD	9		
1:49.518	F	# 406A	Female 8-9 100 IM	CWSL-LD	10		
1:41.91\$		# 408A	Female 8-9 100 Free	CWSL-LD	11		
Jessica Poole	• (11) F						
NS		# 406C	Female 11-11 100 IM	CWSL-LD			
1:28.23\$		# 408C	Female 11-11 100 Free	CWSL-LD	6		
Lanre Pratt	(12) M						
2:16.87\$		# 102D	Male 12-12 200 Free	CWSL-LD	1		-3.51
1:19.39\$	F	# 108D	Male 12-12 100 Fly	CWSL-LD	1		
4:40.62S	F	# 202C	Male 12-12 400 Free	CWSL-LD	1		-9.67
34.215	F	# 204D	Male 12-12 50 Back	CWSL-LD	2		-0.49
1:03.99\$	F	# 204D	Male 12-12 100 Free	CWSL-LD	1		-1.71
5:36.61S	F	# 301C	Male 12-12 400 IM	CWSL-LD	1		-1.71
1:13.97\$	F	# 305D	Male 12-12 100 Back	CWSL-LD	2		-0.03
3:10.98S	F	# 303D	Male 12-12 200 Breast	CWSL-LD	1		-38.80
29.03S	F	# 403D	Male 12-12 50 Free	CWSL-LD	1		-1.36
1:29.16S		# 405D	Male 12-12 100 Breast	CWSL-LD	1		-22.18
		# 4030	Male 12-12 100 bleast	CW3E-ED	1		-22.16
Luke Pryce-J							
2:56.09\$	F	# 102A	Male 8-9 200 Free	CWSL-LD	1		
48.79S	F	# 104A	Male 8-9 50 Breast	CWSL-LD	1		-5.89
1:31.77\$	F	# 206A	Male 8-9 100 IM	CWSL-LD	1		-9.46
1:22.59S	F	# 208A	Male 8-9 100 Free	CWSL-LD	1		-21.12
43.32S	F	# 303A	Male 8-9 50 Fly	CWSL-LD	3		
1:33.68S	F	# 305A	Male 8-9 100 Back	CWSL-LD	1		
3:19.18S	F	# 401A	Male 8-9 200 IM	CWSL-LD	1		
37.19S	F	# 403A	Male 8-9 50 Free	CWSL-LD	2		-4.70
	am Kristhom						
55.42\$		# 304B	Female 10-10 50 Breast	CWSL-LD	14		
50.94S	F	# 404B	Female 10-10 50 Back	CWSL-LD	15		
Pia Raber (1	-						
50.62S		# 103B	Female 10-10 50 Fly	CWSL-LD	7		
1:47.02S	F	# 105B	Female 10-10 100 Back	CWSL-LD	10		-11.40
4:12.41S	F	# 107B	Female 10-10 200 Breast	CWSL-LD	6		

Time	F/P/S	Event		Place	Points	Improv
Ziggy Renshaw	(13) M					
7:02.66S	F # 202D	Male 13-13 400 Free	CWSL-LD	6		
NS	F # 208E	Male 13-13 100 Free	CWSL-LD			
4:01.27S	F #401E	Male 13-13 200 IM	CWSL-LD	7		
35.57S	F # 403E	Male 13-13 50 Free	CWSL-LD	6		
Lavinia Ricca (1	12) F					
32.39S	F #103D	Female 12-12 50 Fly	CWSL-LD	2		-0.02
1:09.33S	F #105D	Female 12-12 100 Back	CWSL-LD	1		1.10
29.11S	F # 203D	Female 12-12 50 Free	CWSL-LD	2		0.01
2:35.26S	F # 207D	Female 12-12 200 Fly	CWSL-LD	1		
36.97S	F #304D	Female 12-12 50 Breast	CWSL-LD	1		0.15
1:12.06S	F #308D	Female 12-12 100 Fly	CWSL-LD	2		1.42
4:41.92S	F # 402C	Female 12-12 400 Free	CWSL-LD	1		-4.58
1:02.58S	F # 408D	Female 12-12 100 Free	CWSL-LD	1		0.41
Joshua Rivera (	(O) M					
3:12.96S	F # 102A	Male 8-9 200 Free	CWSL-LD	2		-17.09
51.518	F # 104A		CWSL-LD	2		0.22
45.04S	F # 204A		CWSL-LD	1		0.68
1:38.62\$	F # 206A		CWSL-LD	2		-17.13
46.018	F # 303A		CWSL-LD	5		-12.23
3:44.80S	F # 307A	y	CWSL-LD	1		-15.52
3:27.95\$	F # 401A		CWSL-LD	2		
40.16S	F # 403A		CWSL-LD	5		0.37
Kathryn Robert 43.57S	S (10) F F #404B	Female 10-10 50 Back	CWSL-LD	8		-2.34
43.373 1:37.86S	F # 404B		CWSL-LD			-2.34
1:30.05S	F #408B		CWSL-LD	10 9		-10.54
		remale 10-10 100 rice	CM2F-FD	9		-10.54
<b>Edward Robinso</b>						
40.64S	F # 104C		CWSL-LD	1		-1.46
3:04.99\$	F # 106C	Male 11-11 200 Back	CWSL-LD	2		-10.19
40.32S	F # 204C	Male 11-11 50 Back	CWSL-LD	2		-2.85
1:22.77\$	F # 206C		CWSL-LD	1		-3.28
1:17.73\$	F # 208C		CWSL-LD	2		-10.14
36.48\$	F #303C		CWSL-LD	1		-2.28
3:16.32S	F # 307C		CWSL-LD	1		-5.99
2:55.35\$	F # 401C		CWSL-LD	1		-5.98
35.21S	F # 403C		CWSL-LD	2		0.26
1:32.87S	F # 405C	Male 11-11 100 Breast	CWSL-LD	1		2.51
Christopher Ro	drigues (8) M					
57.73S	F # 204A	Male 8-9 50 Back	CWSL-LD	21		-9.83
1:56.448	F # 208A	Male 8-9 100 Free	CWSL-LD	15		
NS	F # 305A	Male 8-9 100 Back	CWSL-LD			
NS	F # 403A	Male 8-9 50 Free	CWSL-LD			

Time	F/P/S		Event		Place	Points	Improv
Jonathan Rudd	(13) M						
2:22.79\$	F	# 102E	Male 13-13 200 Free	CWSL-LD	4		-5.61
40.97S	F	# 104E	Male 13-13 50 Breast	CWSL-LD	6		-5.72
2:34.44\$	F	# 106E	Male 13-13 200 Back	CWSL-LD	5		-6.17
1:25.67\$	F	# 108E	Male 13-13 100 Fly	CWSL-LD	7		-12.49
5:04.64\$	F	# 202D	Male 13-13 400 Free	CWSL-LD	4		-65.00
34.36S	F	# 204E	Male 13-13 50 Back	CWSL-LD	7		0.03
1:15.93\$	F	# 206E	Male 13-13 100 IM	CWSL-LD	3		-11.82
1:08.36S	F	# 208E	Male 13-13 100 Free	CWSL-LD	8		-0.41
5:36.93\$	F	# 301D	Male 13-13 400 IM	CWSL-LD	3		-83.63
35.11S	F	# 303E	Male 13-13 50 Fly	CWSL-LD	7		-2.60
1:14.618	F	# 305E	Male 13-13 100 Back	CWSL-LD	7		-0.40
2:41.42S	F	# 401E	Male 13-13 200 IM	CWSL-LD	5		-10.32
30.36S	F	# 403E	Male 13-13 50 Free	CWSL-LD	5		-1.30
1:29.44S	F	# 405E	Male 13-13 100 Breast	CWSL-LD	5		-21.38
William Rudd	(16) M						
2:01.86S		# 102F	Male 14 & Over 200 Free	CWSL-LD	2		4.89
36.37S	F	# 104F	Male 14 & Over 50 Breast	CWSL-LD	4		-1.09
1:03.82S	F	# 108F	Male 14 & Over 100 Fly	CWSL-LD	2		1.75
4:36.57\$	F	# 202E	Male 14 & Over 400 Free	CWSL-LD	2		-52.37
29.73\$	F	# 204F	Male 14 & Over 50 Back	CWSL-LD	2		1.72
1:09.05S	F	# 206F	Male 14 & Over 100 IM	CWSL-LD	4		0.69
55.518	F	# 208F	Male 14 & Over 100 Free	CWSL-LD	1		1.27
28.35S	F	# 303F	Male 14 & Over 50 Fly	CWSL-LD	2		1.19
1:05.228	F	# 305F	Male 14 & Over 100 Back	CWSL-LD	1		4.49
NS	F	# 401F	Male 14 & Over 200 IM	CWSL-LD			
DQ	F	# 403F	Male 14 & Over 50 Free	CWSL-LD			
2:39.70S	F	# 407F	Male 14 & Over 200 Fly	CWSL-LD	2		9.98
Oscar Rupf (10	) M						
3:25.23\$	F	# 102B	Male 10-10 200 Free	CWSL-LD	9		
52.19S	F	# 104B	Male 10-10 50 Breast	CWSL-LD	7		
48.48S	F	# 204B	Male 10-10 50 Back	CWSL-LD	12		
1:46.218	F	# 206B	Male 10-10 100 IM	CWSL-LD	9		
53.67S	F	# 303B	Male 10-10 50 Fly	CWSL-LD	9		
1:44.00S DO	Q F	# 305B	Male 10-10 100 Back	CWSL-LD			
3:54.12S	F	# 401B	Male 10-10 200 IM	CWSL-LD	8		
42.43S	F	# 403B	Male 10-10 50 Free	CWSL-LD	12		
2:01.53S	F	# 405B	Male 10-10 100 Breast	CWSL-LD	8		
Jacopo Sabbagl	nian (11) M	1					
NS	F	# 303C	Male 11-11 50 Fly	CWSL-LD			
NS	F	# 305C	Male 11-11 100 Back	CWSL-LD			
NS	F	# 307C	Male 11-11 200 Breast	CWSL-LD			
NS	F	# 401C	Male 11-11 200 IM	CWSL-LD			
NS	F	# 403C	Male 11-11 50 Free	CWSL-LD			
NS	F	# 405C	Male 11-11 100 Breast	CWSL-LD			
NS	F	# 407C	Male 11-11 200 Fly	CWSL-LD			

Time	F/P/S	S	Event		Place	Points	Improv
Tommaso Sabba	ghian (8)	) M					
NS	F	# 104A	Male 8-9 50 Breast	CWSL-LD			
NS	F	# 204A	Male 8-9 50 Back	CWSL-LD			
NS	F	# 303A	Male 8-9 50 Fly	CWSL-LD			
NS	F	# 403A	Male 8-9 50 Free	CWSL-LD			
Gia Sachan (10)	F						
4:10.53S DQ	F	# 107B	Female 10-10 200 Breast	CWSL-LD			
1:59.23S	F	# 205B	Female 10-10 100 Breast	CWSL-LD	10		
55.08S	F	# 304B	Female 10-10 50 Breast	CWSL-LD	12		-6.34
NS	F	# 408B	Female 10-10 100 Free	CWSL-LD			
Zeena Sajil (10)	F						
3:13.93S	F	# 302B	Female 10-10 200 Free	CWSL-LD	10		
1:49.67S	F	# 308B	Female 10-10 100 Fly	CWSL-LD	6		
1:42.71S	F	# 406B	Female 10-10 100 IM	CWSL-LD	13		
1:30.88S	F	# 408B	Female 10-10 100 Free	CWSL-LD	11		-16.76
Imogen Sargent	(15) F						
32.36S		# 103F	Female 14 & Over 50 Fly	CWSL-LD	3		0.44
1:14.26S	F	# 105F	Female 14 & Over 100 Back	CWSL-LD	3		2.37
3:05.67\$	F	# 107F	Female 14 & Over 200 Breast	CWSL-LD	2		8.12
2:42.31S	F	# 201F	Female 14 & Over 200 IM	CWSL-LD	2		2.04
29.98S	F	# 203F	Female 14 & Over 50 Free	CWSL-LD	3		0.89
2:42.47\$	F	# 207F	Female 14 & Over 200 Fly	CWSL-LD	1		-88.00
2:21.46S	F	# 302F	Female 14 & Over 200 Free	CWSL-LD	2		-67.41
38.50S	F	# 304F	Female 14 & Over 50 Breast	CWSL-LD	2		2.09
2:37.00S	F	# 306F	Female 14 & Over 200 Back	CWSL-LD	3		-49.50
1:10.50S	F	# 308F	Female 14 & Over 100 Fly	CWSL-LD	1		-1.35
33.40S	F	# 404F	Female 14 & Over 50 Back	CWSL-LD	2		1.13
1:15.148	F	# 406F	Female 14 & Over 100 IM	CWSL-LD	2		-1.06
1:04.518	F	# 408F	Female 14 & Over 100 Free	CWSL-LD	3		-0.40
Nicholas Sesson	-Farre (1	3) M					
2:27.20\$	F	# 102E	Male 13-13 200 Free	CWSL-LD	7		
36.55S	F	# 104E	Male 13-13 50 Breast	CWSL-LD	2		-2.22
32.65S	F	# 204E	Male 13-13 50 Back	CWSL-LD	5		-1.72
1:11.36S	F	# 305E	Male 13-13 100 Back	CWSL-LD	5		-6.56
2:39.25\$	F	# 401E	Male 13-13 200 IM	CWSL-LD	4		
30.01S	F	# 403E	Male 13-13 50 Free	CWSL-LD	3		-0.44
1:25.26S	F	# 405E	Male 13-13 100 Breast	CWSL-LD	2		-2.94
Alice Sevestre (	12) F						
44.58S DQ	-	# 404D	Female 12-12 50 Back	CWSL-LD			
1:41.46S	F	# 406D	Female 12-12 100 IM	CWSL-LD	8		
1:31.75\$		# 408D	Female 12-12 100 Free	CWSL-LD	9		
	_			•	•		

Time	F/P/S	3	Event		Place	Points	Improv
Doruk Sevinc (	10) M						
53.72S	-	# 104B	Male 10-10 50 Breast	CWSL-LD	10		-3.12
49.73S	F	# 204B	Male 10-10 50 Back	CWSL-LD	15		
1:46.63\$	F	# 206B	Male 10-10 100 IM	CWSL-LD	10		
1:32.94S	F	# 208B	Male 10-10 100 Free	CWSL-LD	8		
56.15S	F	# 303B	Male 10-10 50 Fly	CWSL-LD	10		
1:48.45S	F	# 305B	Male 10-10 100 Back	CWSL-LD	9		
3:54.98S	F	# 401B	Male 10-10 200 IM	CWSL-LD	9		
41.12S	F	# 403B	Male 10-10 50 Free	CWSL-LD	11		
2:02.30S	F	# 405B	Male 10-10 100 Breast	CWSL-LD	9		
Lauren Shaffer	(15) F						
33.55S		# 103F	Female 14 & Over 50 Fly	CWSL-LD	4		-0.07
1:18.39\$	F	# 105F	Female 14 & Over 100 Back	CWSL-LD	5		2.14
2:44.96S	F	# 201F	Female 14 & Over 200 IM	CWSL-LD	3		-2.74
1:31.14S	F	# 205F	Female 14 & Over 100 Breast	CWSL-LD	3		
NS	F	# 207F	Female 14 & Over 200 Fly	CWSL-LD			
2:22.72S	F	# 302F	Female 14 & Over 200 Free	CWSL-LD	3		-2.79
NS	F	# 306F	Female 14 & Over 200 Back	CWSL-LD			
1:13.198	F	# 308F	Female 14 & Over 100 Fly	CWSL-LD	3		0.30
4:58.80S	F	# 402E	Female 14 & Over 400 Free	CWSL-LD	1		-1.13
1:07.598		# 408F	Female 14 & Over 100 Free	CWSL-LD	4		-1.39
Francesca Sharl 1:22.48S		# 105E	Female 13-13 100 Back	CWSL-LD	2		-1.37
3:26.54S	F	# 103E # 107E	Female 13-13 200 Breast	CWSL-LD	3		-1.57
34.74S	F	# 203E	Female 13-13 50 Free	CWSL-LD	6		-0.27
1:36.23S	F	# 205E	Female 13-13 100 Breast	CWSL-LD	4		-2.88
43.74\$	F	# 203E # 304E	Female 13-13 50 Breast	CWSL-LD	3		-1.79
2:59.42S	F	# 304E	Female 13-13 200 Back	CWSL-LD	2		-6.41
36.82S	F	# 404E	Female 13-13 50 Back	CWSL-LD	2		-1.90
1:26.44S	F	# 404E	Female 13-13 100 IM	CWSL-LD	3		-8.39
1.20.445 NS	F	# 408E	Female 13-13 100 Free	CWSL-LD			-0.39
		# 400E	remale 13-13 100 Free	CAA2F-FD			
Jemima Sharkey			7 1 4 4 0 0 FO TO	av.va n			
36.44S	_	# 103F	Female 14 & Over 50 Fly	CWSL-LD	6		1.54
NS	F	# 105F	Female 14 & Over 100 Back	CWSL-LD			
3:24.96\$	F	# 107F	Female 14 & Over 200 Breast	CWSL-LD	4		8.59
3:06.94\$	F	# 201F	Female 14 & Over 200 IM	CWSL-LD	6		0.86
33.10\$		# 203F	Female 14 & Over 50 Free	CWSL-LD	6		-0.31
1:35.58\$		# 205F	Female 14 & Over 100 Breast	CWSL-LD	5		1.51
41.67\$		# 304F	Female 14 & Over 50 Breast	CWSL-LD	4		-1.35
39.81\$	F	# 404F	Female 14 & Over 50 Back	CWSL-LD	5		0.86
1:22.598	F	# 406F	Female 14 & Over 100 IM	CWSL-LD	5		-0.42
Anika Shet (11)							
45.47S	F	# 203C	Female 11-11 50 Free	CWSL-LD	7		
1:59.77\$	F	# 205C	Female 11-11 100 Breast	CWSL-LD	4		
56.67\$	F	# 304C	Female 11-11 50 Breast	CWSL-LD	6		-2.19

Time	F/P/S	5	Event		Place	Points	Improv
Eva Shvorob (9	) F						
44.25S	F	# 103A	Female 8-9 50 Fly	CWSL-LD	2		
1:40.09S	F	# 105A	Female 8-9 100 Back	CWSL-LD	2		
55.46S	F	# 304A	Female 8-9 50 Breast	CWSL-LD	9		
46.12S	F	# 404A	Female 8-9 50 Back	CWSL-LD	2		-3.25
1:41.93\$	F	# 406A	Female 8-9 100 IM	CWSL-LD	2		
1:31.62S	F	# 408A	Female 8-9 100 Free	CWSL-LD	2		-10.05
Gloria Shvorob	(8) F						
1:11.65S DQ	) F	# 103A	Female 8-9 50 Fly	CWSL-LD			
53.76S	F	# 203A	Female 8-9 50 Free	CWSL-LD	27		
1:26.90S	F	# 304A	Female 8-9 50 Breast	CWSL-LD	25		
55.77S	F	# 404A	Female 8-9 50 Back	CWSL-LD	21		-4.31
2:15.63S DQ	Q F	# 406A	Female 8-9 100 IM	CWSL-LD			
Michael Shvoro	b (12) M						
50.17S	F	# 104D	Male 12-12 50 Breast	CWSL-LD	5		
1:51.48S DQ	) F	# 108D	Male 12-12 100 Fly	CWSL-LD			
47.51S	F	# 204D	Male 12-12 50 Back	CWSL-LD	11		
1:37.86S	F	# 206D	Male 12-12 100 IM	CWSL-LD	7		
1:26.97S	F	# 208D	Male 12-12 100 Free	CWSL-LD	8		
45.31S	F	# 303D	Male 12-12 50 Fly	CWSL-LD	7		
1:43.85S DQ	) F	# 305D	Male 12-12 100 Back	CWSL-LD			
36.678	F	# 403D	Male 12-12 50 Free	CWSL-LD	8		
1:49.55S	F		Male 12-12 100 Breast	CWSL-LD	6		
Maximus Smuri	fit (11) M						
3:23.60\$	F (11)	# 102C	Male 11-11 200 Free	CWSL-LD	3		
51.22S	F	# 104C	Male 11-11 50 Breast	CWSL-LD	3		-3.54
3:37.815	F	# 106C	Male 11-11 200 Back	CWSL-LD	3		
44.10S	F	# 204C	Male 11-11 50 Back	CWSL-LD	5		-4.35
1:35.138	F	# 206C	Male 11-11 100 IM	CWSL-LD	3		-11.04
1:39.118	F		Male 11-11 100 Free	CWSL-LD	5		8.01
		# 200C	Maic II II 100 Free	GW5E ED	3		0.01
Indigo Spence ( 6:27.13S		# 101B	Female 11-11 400 IM	CWSL-LD	1		
3:01.47S	F		Female 11-11 200 IM	CWSL-LD	1		
32.62\$	F	# 203C	Female 11-11 50 Free	CWSL-LD	1		-6.91
1:36.22\$	F	# 205C	Female 11-11 100 Breast	CWSL-LD	1		
3:10.68\$	F	# 207C	Female 11-11 200 Fly	CWSL-LD	1		
2:58.29\$	F		Female 11-11 200 Back	CWSL-LD	1		40.55
1:22.20\$	F F	# 308C	Female 11-11 100 Fly	CWSL-LD	1		-13.55 -7.98
1:12.30S		# 408C	Female 11-11 100 Free	CWSL-LD	1		-7.98
Tashi Spence (1	-		_ ,				
39.18\$		# 103E	Female 13-13 50 Fly	CWSL-LD	4		<del></del>
1:25.75\$	F	# 105E	Female 13-13 100 Back	CWSL-LD	3		-7.22
1:40.145	F	# 205E	Female 13-13 100 Breast	CWSL-LD	6		
2:37.31\$	F	# 302E	Female 13-13 200 Free	CWSL-LD	2		-26.92
2:59.52S	F	# 306E	Female 13-13 200 Back	CWSL-LD	3		-29.99
5:35.84\$	F	# 402D	Female 13-13 400 Free	CWSL-LD	3		
40.65S	F	# 404E	Female 13-13 50 Back	CWSL-LD	5		-0.39

Time	F/P/S	5	Event		Place	Points	Improv
Celeste Step	hens (11) F						
3:27.56S	F	# 201C	Female 11-11 200 IM	CWSL-LD	3		
36.70S	F	# 203C	Female 11-11 50 Free	CWSL-LD	4		-3.35
1:49.50S	F	# 205C	Female 11-11 100 Breast	CWSL-LD	2		-1.65
NS	F	# 304C	Female 11-11 50 Breast	CWSL-LD			
43.82S	F	# 404C	Female 11-11 50 Back	CWSL-LD	4		-1.49
1:34.18S	F	# 406C	Female 11-11 100 IM	CWSL-LD	2		-6.75
Theola Stepl	hens (14) F						
NS	F	# 203F	Female 14 & Over 50 Free	CWSL-LD			
1:21.61S	F	# 406F	Female 14 & Over 100 IM	CWSL-LD	4		-1.89
1:14.73\$	F	# 408F	Female 14 & Over 100 Free	CWSL-LD	5		-8.82
Olivier Steni	inski (12) M						
NS		# 104D	Male 12-12 50 Breast	CWSL-LD			
NS	F	# 204D	Male 12-12 50 Back	CWSL-LD			
NS	F	# 208D	Male 12-12 100 Free	CWSL-LD			
NS	F	# 303D	Male 12-12 50 Fly	CWSL-LD			
NS	F	# 305D	Male 12-12 100 Back	CWSL-LD			
NS	F	# 403D	Male 12-12 50 Free	CWSL-LD			
NS	F	# 405D	Male 12-12 100 Breast	CWSL-LD			
Erik Sternby	, (10) M						
3:07.13S	/ (10) М F	# 102B	Male 10-10 200 Free	CWSL-LD	6		-14.66
52.56S	F	# 104B	Male 10-10 50 Breast	CWSL-LD	8		-0.31
44.95S	F	# 204B	Male 10-10 50 Breast	CWSL-LD	6		-3.52
1:40.50S	F	# 204B	Male 10-10 100 IM	CWSL-LD	4		-9.07
1:27.33S	F	# 200B	Male 10-10 100 Free	CWSL-LD	5		-7.05
45.71S	F	# 303B	Male 10-10 50 Fly	CWSL-LD	7		-8.06
3:35.15S	F	# 401B	Male 10-10 200 IM	CWSL-LD	6		-19.29
39.45\$	F	# 403B	Male 10-10 50 Free	CWSL-LD	9		-3.23
1:55.648	F	# 405B	Male 10-10 100 Breast	CWSL-LD	5		-4.72
			rate to to to bread	0.101 15	J		
	toronsky (9)		M-1- 0.0 50 D	CMCLID			
1:02.04\$		# 104A	Male 8-9 50 Breast	CWSL-LD			2.07
51.66S	_	# 204A	Male 8-9 50 Back	CWSL-LD	14		-3.07
NS	F	# 208A	Male 8-9 100 Free	CWSL-LD			
NS	F	# 303A	Male 8-9 50 Fly	CWSL-LD			
44.75S 2:25.87S	F DO F	# 403A	Male 8-9 50 Free	CWSL-LD	14		-8.06
	-	# 405A	Male 8-9 100 Breast	CWSL-LD			
-	ndberg (8) F						
1:20.29\$		# 103A	Female 8-9 50 Fly	CWSL-LD	14		
2:14.38\$	F -	# 105A	Female 8-9 100 Back	CWSL-LD	10		
1:07.15S	F	# 304A	Female 8-9 50 Breast	CWSL-LD	21		-6.31

Time	F/P/S	;	Event		Place	Points	Improv
Josephine Surm	ninski (13)	F					
2:41.85\$	F	# 107E	Female 13-13 200 Breast	CWSL-LD	1		-12.45
2:37.13\$	F	# 201E	Female 13-13 200 IM	CWSL-LD	1		-5.94
1:16.67S	F	# 205E	Female 13-13 100 Breast	CWSL-LD	1		-6.88
2:23.598	F	# 302E	Female 13-13 200 Free	CWSL-LD	1		-4.80
36.69S	F	# 304E	Female 13-13 50 Breast	CWSL-LD	1		-0.96
1:16.08S	F	# 308E	Female 13-13 100 Fly	CWSL-LD	2		-3.39
4:57.13S	F	# 402D	Female 13-13 400 Free	CWSL-LD	1		-100.59
NS	F	# 406E	Female 13-13 100 IM	CWSL-LD			
NS	F	# 408E	Female 13-13 100 Free	CWSL-LD			
Leo Surminski	(8) M						
1:10.92S DO	) F	# 104A	Male 8-9 50 Breast	CWSL-LD			
57.49S DO	) F	# 204A	Male 8-9 50 Back	CWSL-LD			
2:22.12S DO	) F	# 206A	Male 8-9 100 IM	CWSL-LD			
1:20.11S DO	) F	# 303A	Male 8-9 50 Fly	CWSL-LD			
2:11.63S DO	Q F	# 305A	Male 8-9 100 Back	CWSL-LD			
Max-Henry Sur	minski (9)	M					
3:24.33S		# 102A	Male 8-9 200 Free	CWSL-LD	7		-26.46
3:24.29\$	F	# 106A	Male 8-9 200 Back	CWSL-LD	2		-19.01
45.67S	F	# 204A	Male 8-9 50 Back	CWSL-LD	3		-7.76
1:46.05S	F	# 206A	Male 8-9 100 IM	CWSL-LD	5		
51.08S	F	# 303A	Male 8-9 50 Fly	CWSL-LD	9		
1:44.99S	F	# 305A	Male 8-9 100 Back	CWSL-LD	7		0.99
Ines Sweeney (	8) F						
1:02.62S	-	# 103A	Female 8-9 50 Fly	CWSL-LD	13		
48.69S	F	# 203A	Female 8-9 50 Free	CWSL-LD	23		-2.68
1:01.12S	F	# 304A	Female 8-9 50 Breast	CWSL-LD	18		-6.90
55.55S	F	# 404A	Female 8-9 50 Back	CWSL-LD	20		-1.35
Viggo Sweeney	(9) M						
1:00.24S D(		# 104A	Male 8-9 50 Breast	CWSL-LD			
56.30S DO		# 204A	Male 8-9 50 Back	CWSL-LD			
1:08.77S DC		# 303A	Male 8-9 50 Fly	CWSL-LD			
47.09S	-	# 403A	Male 8-9 50 Free	CWSL-LD	16		-2.03
Arsema Takea	(11) F						
45.61S		# 103C	Female 11-11 50 Fly	CWSL-LD	2		-5.02
1:43.11S		# 105C	Female 11-11 100 Back	CWSL-LD	3		
40.87S		# 203C	Female 11-11 50 Free	CWSL-LD	6		-0.98
53.22S	F	# 304C	Female 11-11 50 Breast	CWSL-LD	5		-3.62
Naomi Takea (1	13) F						
33.175	-	# 203E	Female 13-13 50 Free	CWSL-LD	3		0.07
1:33.78\$		# 205E	Female 13-13 100 Breast	CWSL-LD	3		-1.48
DQ		# 304E	Female 13-13 50 Breast	CWSL-LD			
-							

Time	F/P/S	1	Event		Place	Points	Improv
Yuki Takenoshita	a (11) M						
NS	F	# 102C	Male 11-11 200 Free	CWSL-LD			
NS	F	# 104C	Male 11-11 50 Breast	CWSL-LD			
NS	F	# 204C	Male 11-11 50 Back	CWSL-LD			
NS	F	# 208C	Male 11-11 100 Free	CWSL-LD			
NS	F	# 303C	Male 11-11 50 Fly	CWSL-LD			
NS	F	# 305C	Male 11-11 100 Back	CWSL-LD			
NS	F	# 401C	Male 11-11 200 IM	CWSL-LD			
NS	F	# 403C	Male 11-11 50 Free	CWSL-LD			
Ballou Teplitzky	(12) F						
6:52.03S		# 101C	Female 12-12 400 IM	CWSL-LD	2		
43.17S	F	# 103D	Female 12-12 50 Fly	CWSL-LD	7		-1.90
3:14.44S	F	# 201D	Female 12-12 200 IM	CWSL-LD	6		
34.91S	F	# 203D	Female 12-12 50 Free	CWSL-LD	8		1.32
2:46.84\$	F	# 302D	Female 12-12 200 Free	CWSL-LD	4		
1:32.97\$	F	# 406D	Female 12-12 100 IM	CWSL-LD	7		-2.03
1:16.31S	F	# 408D	Female 12-12 100 Free	CWSL-LD	6		-0.14
Jade Trincano (9	)) E						
42.83S	-	# 203A	Female 8-9 50 Free	CWSL-LD	9		
1:49.10S		# 205A	Female 8-9 100 Breast	CWSL-LD	1		
50.018		# 304A	Female 8-9 50 Breast	CWSL-LD	2		
1:32.64\$		# 408A	Female 8-9 100 Free	CWSL-LD	4		
		" 10011	Temale 6 5 100 Free	CW3E ED	1		
Elliot Trotzier (1	-	# 4 0 0 D	W 1 40 40 000 F	CIAICI I D			
3:02.84\$		# 102D	Male 12-12 200 Free	CWSL-LD	6		
3:17.87\$		# 106D	Male 12-12 200 Back	CWSL-LD	3		-8.08
41.73S		# 204D	Male 12-12 50 Back	CWSL-LD	8		
1:35.36S DQ		# 206D	Male 12-12 100 IM	CWSL-LD			
1:26.23S	r	# 208D	Male 12-12 100 Free	CWSL-LD	7		0.03
Elendu Ukeje (9)	) M						
39.07S	F	# 303A	Male 8-9 50 Fly	CWSL-LD	1		-7.88
34.87S	F	# 403A	Male 8-9 50 Free	CWSL-LD	1		-3.90
Ken Ukeje (9) M							
41.86S	F	# 303A	Male 8-9 50 Fly	CWSL-LD	2		-5.76
37.34S	F	# 403A	Male 8-9 50 Free	CWSL-LD	3		-6.82
Leah Ukeje (11)	F						
NS		# 201C	Female 11-11 200 IM	CWSL-LD			
NS		# 203C	Female 11-11 50 Free	CWSL-LD			
41.64S		# 304C	Female 11-11 50 Breast	CWSL-LD	1		-7.47
1:14.11S		# 408C	Female 11-11 100 Free	CWSL-LD	2		-15.71
Charlotte Veilex 39.49S		# 203B	Female 10-10 50 Free	CWSL-LD	12		
2:03.20S		# 205B	Female 10-10 100 Breast	CWSL-LD	12		
55.18S		# 203B # 304B	Female 10-10 50 Breast	CWSL-LD	13		
1:30.67S		# 408B	Female 10-10 100 Free	CWSL-LD	10		<del></del>
		" 1000	Temate 10 10 100 litt	G**3D-DD	10		
Kai Veitch (8) M		U 1011	MI OOFOR	CIACL LD			
1:12.49S DQ		# 104A	Male 8-9 50 Breast	CWSL-LD			
54.26S		# 204A	Male 8-9 50 Back	CWSL-LD	18		-1.58
52.618	F	# 403A	Male 8-9 50 Free	CWSL-LD	22		-4.66

Time	F/P/S		Event		Place	Points	Improv
Nicolas Venuti (8	3) M						
3:19.12S		# 102A	Male 8-9 200 Free	CWSL-LD	4		
52.96S	F	# 104A	Male 8-9 50 Breast	CWSL-LD	6		-9.57
48.45S	F	# 204A	Male 8-9 50 Back	CWSL-LD	9		-9.37
1:33.63\$	F	# 208A	Male 8-9 100 Free	CWSL-LD	3		-24.39
1:42.57\$	F	# 305A	Male 8-9 100 Back	CWSL-LD	5		
40.57S	F	# 403A	Male 8-9 50 Free	CWSL-LD	6		-12.27
1:53.98\$	F	# 405A	Male 8-9 100 Breast	CWSL-LD	2		
Veronica Venuti	(10) F						
5:38.18S		# 101A	Female 10-10 400 IM	CWSL-LD	1		-8.52
1:14.90S	F	# 105B	Female 10-10 100 Back	CWSL-LD	1		0.31
2:42.48\$	F	# 201B	Female 10-10 200 IM	CWSL-LD	1		-3.53
33.23S	F	# 203B	Female 10-10 50 Free	CWSL-LD	1		1.38
2:49.18S	F	# 207B	Female 10-10 200 Fly	CWSL-LD	1		-5.88
2:23.62S	F	# 302B	Female 10-10 200 Free	CWSL-LD	1		-5.15
2:37.95\$	F	# 306B	Female 10-10 200 Back	CWSL-LD	1		-1.92
4:58.96S	F	# 402A	Female 10-10 400 Free	CWSL-LD	1		-15.51
34.76S	F	# 404B	Female 10-10 50 Back	CWSL-LD	1		0.18
1:18.19\$	F	# 406B	Female 10-10 100 IM	CWSL-LD	1		0.04
1:11.228	F	# 408B	Female 10-10 100 Free	CWSL-LD	1		1.55
Sophie Vernon-E	vans (12)	F					
39.76S		# 103D	Female 12-12 50 Fly	CWSL-LD	6		-1.19
1:33.36S	F	# 105D	Female 12-12 100 Back	CWSL-LD	5		2.80
36.24S	F	# 203D	Female 12-12 50 Free	CWSL-LD	9		1.55
1:44.41S	F	# 205D	Female 12-12 100 Breast	CWSL-LD	4		-1.04
2:56.49\$	F	# 302D	Female 12-12 200 Free	CWSL-LD	6		-1.40
47.18S	F	# 304D	Female 12-12 50 Breast	CWSL-LD	6		0.08
43.96S	F	# 404D	Female 12-12 50 Back	CWSL-LD	6		1.07
1:32.71S	F	# 406D	Female 12-12 100 IM	CWSL-LD	6		2.58
1:23.198	F	# 408D	Female 12-12 100 Free	CWSL-LD	8		5.47
Giuseppe Viscon	ti (9) M						
NS		# 104A	Male 8-9 50 Breast	CWSL-LD			
NS		# 204A		CWSL-LD			
NS		# 208A	Male 8-9 100 Free	CWSL-LD			
NS		# 303A	Male 8-9 50 Fly	CWSL-LD			
NS	F	# 403A	Male 8-9 50 Free	CWSL-LD			
Nikita Volynets (	(8) M						
4:29.85S		# 102A	Male 8-9 200 Free	CWSL-LD	8		
NS		# 204A	Male 8-9 50 Back	CWSL-LD			
1:09.28S		# 303A	Male 8-9 50 Fly	CWSL-LD	14		
NS		# 401A	Male 8-9 200 IM	CWSL-LD			
				5 <b>02</b> 22			
Veronique Volyno 1:17.10S DQ		# 103A	Female 8-9 50 Fly	CWSL-LD			
1:17.105 DQ NS			•				
IND	Г	# 404A	Female 8-9 50 Back	CWSL-LD			

Time	F/P/S	5	Event		Place	Points	Improv
Noora Von Bul	ow (10) F						
42.83S	F	# 103B	Female 10-10 50 Fly	CWSL-LD	5		-4.10
3:18.55\$	F	# 201B	Female 10-10 200 IM	CWSL-LD	8		
36.02S	F	# 203B	Female 10-10 50 Free	CWSL-LD	6		-1.86
1:49.86S	F	# 205B	Female 10-10 100 Breast	CWSL-LD	7		
3:00.09S	F	# 302B	Female 10-10 200 Free	CWSL-LD	7		
47.19S	F	# 304B	Female 10-10 50 Breast	CWSL-LD	5		-14.29
40.00S	F	# 404B	Female 10-10 50 Back	CWSL-LD	3		-3.07
1:29.42S	F	# 406B	Female 10-10 100 IM	CWSL-LD	3		
Sula Von Bulov	v (9) F						
59.798	F	# 103A	Female 8-9 50 Fly	CWSL-LD	11		
43.10S	F	# 203A	Female 8-9 50 Free	CWSL-LD	10		
1:02.258	F	# 304A	Female 8-9 50 Breast	CWSL-LD	19		
50.77S	F	# 404A	Female 8-9 50 Back	CWSL-LD	11		
1:50.658	F	# 406A	Female 8-9 100 IM	CWSL-LD	11		
Filips Vosels (9	9) M						
1:37.24\$	-	# 208A	Male 8-9 100 Free	CWSL-LD	7		
1:53.08S	F	# 305A	Male 8-9 100 Back	CWSL-LD	8		
Felix Welter (1	11) M						
43.298	F	# 204C	Male 11-11 50 Back	CWSL-LD	3		-0.91
1:37.85S	F	# 206C	Male 11-11 100 IM	CWSL-LD	4		-0.62
1:26.75\$	F	# 208C	Male 11-11 100 Free	CWSL-LD	3		-5.79
44.59S	F	# 303C	Male 11-11 50 Fly	CWSL-LD	3		-2.37
1:37.20S	F	# 305C	Male 11-11 100 Back	CWSL-LD	3		-2.30
3:30.53S	F	# 401C	Male 11-11 200 IM	CWSL-LD	2		-8.09
Naomi Welter	(16) F						
2:55.54S		# 201F	Female 14 & Over 200 IM	CWSL-LD	5		-5.60
32.72S	F	# 203F	Female 14 & Over 50 Free	CWSL-LD	5		-1.11
1:28.94S	F	# 205F	Female 14 & Over 100 Breast	CWSL-LD	2		-3.50
3:10.71S	F	# 207F	Female 14 & Over 200 Fly	CWSL-LD	3		-1.84
2:34.77\$	F	# 302F	Female 14 & Over 200 Free	CWSL-LD	4		-3.19
41.40S	F	# 304F	Female 14 & Over 50 Breast	CWSL-LD	3		-1.59
2:55.01S	F		Female 14 & Over 200 Back	CWSL-LD	4		-1.02
1:23.61S		# 308F	Female 14 & Over 100 Fly	CWSL-LD	4		-2.96
Mason Whitak			·				
52.83S	er (9) M F	# 104A	Male 8-9 50 Breast	CWSL-LD	5		-4.45
46.87S	F	# 204A	Male 8-9 50 Back	CWSL-LD	6		-1.15
1:43.41\$	F	# 206A	Male 8-9 100 IM	CWSL-LD	4		
1:35.40S	F	# 200A # 208A	Male 8-9 100 Free	CWSL-LD	5		
1:39.158	F	# 305A	Male 8-9 100 Free	CWSL-LD	4		-9.02
41.02S	F	# 403A	Male 8-9 50 Free	CWSL-LD	8		-2.05
1:56.01S		# 405A	Male 8-9 100 Breast	CWSL-LD	3		-8.63
1.55.015	1	11 103A	Plate 0 7 100 bicast	G 44 9 F-FD	3		-0.03

Time	F/P/S	Event		Place	Points	Improv
Matilda Whital	ker (13) F					
39.09S	F #103E	Female 13-13 50 Fly	CWSL-LD	3		-6.97
1:30.92S	F # 105E	Female 13-13 100 Back	CWSL-LD	5		
33.92S	F # 2031	Female 13-13 50 Free	CWSL-LD	5		-3.35
1:41.65\$	F # 2051	Female 13-13 100 Breast	CWSL-LD	7		
2:48.39\$	F # 302F	Female 13-13 200 Free	CWSL-LD	3		
47.59S	F # 304F	Female 13-13 50 Breast	CWSL-LD	5		-3.90
40.44S	F # 404F	Female 13-13 50 Back	CWSL-LD	4		-3.53
1:26.27\$	F # 406F	E Female 13-13 100 IM	CWSL-LD	2		
1:17.50\$	F # 408F	Female 13-13 100 Free	CWSL-LD	4		-9.76
Edward Whittle	es (13) M					
2:01.75S	F # 102F	Male 13-13 200 Free	CWSL-LD	1		-5.47
34.06S	F #104F	Male 13-13 50 Breast	CWSL-LD	1		-0.83
2:19.72S	F # 106E	Male 13-13 200 Back	CWSL-LD	1		-2.75
1:03.77S	F # 108F		CWSL-LD	1		-1.49
4:16.92S	F # 202I	•	CWSL-LD	1		-9.06
30.85S	F # 204F		CWSL-LD	1		-0.69
1:03.68S	F # 206F		CWSL-LD	1		-2.35
57.26S	F # 2081		CWSL-LD	1		-1.65
4:41.75S	F #301I		CWSL-LD	1		-11.35
29.35S	F #303F		CWSL-LD	1		-0.61
1:06.29\$	F #305F	•	CWSL-LD	1		-1.38
2:31.23S	F #307F		CWSL-LD	1		-3.51
2:16.06S	F #401F		CWSL-LD	1		-4.71
27.23S	F #4011		CWSL-LD	1		-0.68
1:12.35S	F #405F			1		
2:21.48\$	F #405F		CWSL-LD CWSL-LD	1		-0.69 -0.96
		wate 15-15 200 Fly	CW3L-LD	1		-0.90
Madalena Whit			av.vav. v.n.			40.44
5:49.06S	F # 101F		CWSL-LD	1		18.61
34.135	F # 103F	•	CWSL-LD	5		1.30
1:17.20S	F # 105F		CWSL-LD	4		6.48
3:15.96S	F # 107F		CWSL-LD	3		9.37
2:47.89S	F # 201F	Female 14 & Over 200 IM	CWSL-LD	4		11.32
32.15S	F # 203F	Female 14 & Over 50 Free	CWSL-LD	4		2.38
1:33.92S	F # 205F	Female 14 & Over 100 Breast	CWSL-LD	4		6.03
NS	F # 207F	Female 14 & Over 200 Fly	CWSL-LD			
42.07S	F # 304F	Female 14 & Over 50 Breast	CWSL-LD	5		1.65
34.73S	F # 404F	Female 14 & Over 50 Back	CWSL-LD	4		2.04
1:17.30S	F # 406F	Female 14 & Over 100 IM	CWSL-LD	3		1.00
NS	F # 408F	Female 14 & Over 100 Free	CWSL-LD			
Josephine Will	iams (10) F					
40.99S	F #103F	B Female 10-10 50 Fly	CWSL-LD	3		-1.64
1:28.90S	F # 105E	B Female 10-10 100 Back	CWSL-LD	3		0.32
3:15.358	F # 201F	B Female 10-10 200 IM	CWSL-LD	7		0.46
35.81S	F # 203F	Female 10-10 50 Free	CWSL-LD	4		-2.22
1:50.21S	F # 2051	Female 10-10 100 Breast	CWSL-LD	8		-1.56
41.78S	F # 404F		CWSL-LD	4		0.31
1:30.18S	F # 406E		CWSL-LD	4		0.49
1:28.93\$	F # 408F		CWSL-LD	8		2.42
0.,00	1 1001		222 22	Ü		

Time	F/P/S		Event		Place	Points	Improv
Thomas Ybarra	(10) M						
3:21.43\$		# 102B	Male 10-10 200 Free	CWSL-LD	7		
55.76S	F	# 104B	Male 10-10 50 Breast	CWSL-LD	13		-22.37
44.84S	F	# 204B	Male 10-10 50 Back	CWSL-LD	5		-3.73
1:43.49\$	F	# 206B	Male 10-10 100 IM	CWSL-LD	7		
1:36.83S	F	# 208B	Male 10-10 100 Free	CWSL-LD	10		-4.61
47.26S	F	# 303B	Male 10-10 50 Fly	CWSL-LD	8		-2.99
3:48.85S	F	# 401B	Male 10-10 200 IM	CWSL-LD	7		
39.40S	F	# 403B	Male 10-10 50 Free	CWSL-LD	8		-7.36
Olivia Yuen (8)	F						
53.33S		# 404A	Female 8-9 50 Back	CWSL-LD	15		-0.26
1:59.70S	F	# 406A	Female 8-9 100 IM	CWSL-LD	16		
1:50.48S	F	# 408A	Female 8-9 100 Free	CWSL-LD	18		
Chloe Zaimi (9)	F						
43.13S		# 103A	Female 8-9 50 Fly	CWSL-LD	1		-4.97
1:30.48S	F	# 105A	Female 8-9 100 Back	CWSL-LD	1		-3.20
3:31.67\$	F	# 201A	Female 8-9 200 IM	CWSL-LD	1		-31.75
37.82S	F	# 203A	Female 8-9 50 Free	CWSL-LD	1		-1.53
3:08.79\$	F	# 302A	Female 8-9 200 Free	CWSL-LD	1		
50.04S	F	# 304A	Female 8-9 50 Breast	CWSL-LD	3		
3:19.44\$	F	# 306A	Female 8-9 200 Back	CWSL-LD	1		
42.25S	F	# 404A	Female 8-9 50 Back	CWSL-LD	1		
1:36.698	F	# 406A	Female 8-9 100 IM	CWSL-LD	1		-4.84
1:24.45S	F	# 408A	Female 8-9 100 Free	CWSL-LD	1		
Mehmet Zeren (	(13) M						
39.23S		# 104E	Male 13-13 50 Breast	CWSL-LD	4		-2.54
1:08.79S	F	# 108E	Male 13-13 100 Fly	CWSL-LD	3		1.63
NS	F	# 202D	Male 13-13 400 Free	CWSL-LD			
33.27S	F	# 204E	Male 13-13 50 Back	CWSL-LD	6		0.74
1:04.91S	F	# 208E	Male 13-13 100 Free	CWSL-LD	6		3.12
31.16S	F	# 303E	Male 13-13 50 Fly	CWSL-LD	3		0.91
1:10.56S	F	# 305E	Male 13-13 100 Back	CWSL-LD	4		1.35
3:02.15S	F	# 307E	Male 13-13 200 Breast	CWSL-LD	2		
29.52S	F	# 403E	Male 13-13 50 Free	CWSL-LD	2		0.82
1:27.25S	F	# 405E	Male 13-13 100 Breast	CWSL-LD	3		0.59
Mert Zeren (8)	M						
1:09.48S DQ		# 104A	Male 8-9 50 Breast	CWSL-LD			
59.25S		# 204A	Male 8-9 50 Back	CWSL-LD	22		0.52
50.26S	F	# 403A	Male 8-9 50 Free	CWSL-LD	18		-2.93